Pag	ъe.	1

	·	Ratification Date: Reso	ution #:		S		
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Healtheast Attn Real Estate	BAZIL AND GUERIN'S ADDITION TO	Mill and Overlay - Downto	wn 30.95	552.00	\$17,084.40	31-29-22-34-0278	
Po 59318 Minneapolis MN 55459-0318 *45 10TH ST W	SAINT PAUL SUBJ TO HWY; LOTS 1 & LOT 2 BLK 58 IN IRVINES ENLARGEMENT OF RICE AND IRVINES ADDITION & IN SD BAZIL	*** Owner and Taxpayer *	*	_	\$17,084.40		
*Ward: 2 *Pending as of: 1/28/2022	AND GUERINS ADD SUBJ TO HWY &	Total Assessment: This Payment: Current Year Princip Current Year Interes Payoff Amount:					
Ramsey County R R Authority 214 4th St E Ste 200 St Paul MN 55101-2489 *214 4TH ST E	LOTS 2, 3, 4, 6 THRU LOT 11, LOTS 13, 15, 17 THRU 20, LOT 22 AND LOT 25 BLK 1	Mill and Overlay - Downto *** Owner and Taxpayer **		202.60	\$6,102.31	06-28-22-11-0072	
*Ward: 2 *Pending as of: 1/28/2022		This Curr Curr	Assessment: Payment: Int Year Principal: Int Year Interest: Int Amount:		\$6,102.31 \$0.00 \$0.00 \$0.00 \$6,102.31		
Tanner M Nelson 214 4th St E Unit 103	CIC NO 716 UNION DEPOT LOFTS UNIT NO.103	Mill and Overlay - Downto	wn 30.12	1.09 =	\$32.83 \$32.83	05-28-22-22-0062	
St Paul MN 55101-6100 *214 4TH ST E 103 *Ward: 2 *Pending as of: 1/28/2022		This Curr Curr	Assessment: Payment: nt Year Principal: nt Year Interest: ff Amount:		\$32.83 \$0.00 \$0.00 \$0.00 \$32.83		

			olution #:			
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
osi Severson	CIC NO 716 UNION DEPOT LOFTS UNIT NO.106	Mill and Overlay - Down	own 30.12	1.09	\$32.83	05-28-22-22-0065
571 E 3rd St	UNII NO.106			_	\$32.83	
Winona MN 55987-4224		*** Owner and Taxpayer	***			
*214 4TH ST E 106		_			<u> </u>	
*Ward: 2			al Assessment:		\$32.83	
*Pending as of: 1/28/2022			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		ra	off Amount:		\$32.83	
Kari Ann Grieman	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Down	own 30.12	1.09	\$32.83	05-28-22-22-0066
214 4th St E Unit 107	UNIT NO.107			_	\$32.83	
St Paul MN 55101-6100 * 214 4TH ST E 107		*** Owner and Taxpayer	***			
*Ward: 2		Tot	al Assessment:		\$32.83	
*Pending as of: 1/28/2022		Thi	s Payment:		\$0.00	
		Cu	rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pa	off Amount:		\$32.83	
Emily Maday	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Down	own 30.12	1.09	\$32.83	05-28-22-22-0068
214 4th St E Unit 109	UNIT NO.109	·		=	\$32.83	00 20 22 22 0000
St Paul MN 55101-6100 *214 4TH ST E 109		*** Owner and Taxpayer	***		452. 00	
*Ward: 2		Tot	al Assessment:		\$32.83	
*Pending as of: 1/28/2022			s Payment:		\$0.00	
-			rent Year Principal:		\$0.00	
		Cu	rent Year Interest:		\$0.00	
		Pa	off Amount:		\$32.83	

	1 ubite improvement rissessment roo	•	olution #:		8	•
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patricio F Reyes	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0070
1880 E Morten Ave Unit 240	UNIT NO.202			_	\$32.83	
Phoenix AZ 85020-4616		*** Owner and Taxpayer *	**			
*214 4TH ST E 202					****	
*Ward: 2			l Assessment:		\$32.83	
*Pending as of: 1/28/2022			Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest: off Amount:		\$0.00	
		ray	on Amount:		\$32.83	
Albert Jongewaard	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0071
214 4th St E Unit 203	UNIT NO.203			=	\$32.83	
St Paul MN 55101-6102		*** Owner and Taxpayer *	**		Ψ2Ξ.02	
*214 4TH ST E 203						
*Ward: 2		Tota	l Assessment:		\$32.83	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
		Cur	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pay	off Amount:		\$32.83	
Justin R Miller	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0072
214 4th St E Unit 204	UNIT NO.204			=	\$32.83	03-20-22-22-0072
St Paul MN 55101-6102		*** Owner and Taxpayer *	**		\$32.63	
*214 4TH ST E 204		Owner and ranpayer				
*Ward: 2		Tota	1 Assessment:		\$32.83	
*Pending as of: 1/28/2022			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pav	off Amount:		\$32.83	

Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark Trehus	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0078
214 4th St E Unit 211	UNIT NO.211			_	\$32.83	
St Paul MN 55101-6101		*** Owner and Taxpayer *	**			
*214 4TH ST E 211 *Ward: 2		Tota	l Assessment:		\$32.83	
*Pending as of: 1/28/2022			Payment:		\$0.00	
1 chang as of. 1720/2022			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			off Amount:		\$32.83	
Kenneth L Green	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0079
Ellen B Green	UNIT NO.213			=	\$32.83	
956 Pine View Ct		*** Owner and Taxpayer *	**		4	
St Paul MN 55101-5637						
*214 4TH ST E 213		Tota	l Assessment:		\$32.83	
*Ward: 2		This	Payment:		\$0.00	
*Pending as of: 1/28/2022			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pay	off Amount:		\$32.83	
Kenwood Korp Llc	CIC NO 716 UNION DEPOT LOFTS UNIT NO.218	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0082
214 4th St E Unit 211	ONII NO.216				\$32.83	
St Paul MN 55101-6101 *214 4TH ST E 218		*** Owner and Taxpayer *	**			
*Ward: 2		Tota	l Assessment:		\$32.83	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
-			ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Pay	off Amount:		\$32.83	

Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eric Morris	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	own 30.12	1.09	\$32.83	05-28-22-22-0084
13 Courtney Cir	UNIT NO.220			_	\$32.83	
Strasburg VA 22657-5270 *214 4TH ST E 220		*** Owner and Taxpayer *	**			
*Ward: 2		Tota	Assessment:		\$32.83	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$32.83	
	CIGNO ALL INION DEPOT LOFTS	Mil 10 1 D		1.00	 022 02	
Joseph Simon	CIC NO 716 UNION DEPOT LOFTS UNIT NO.227	Mill and Overlay - Downto	wn 30.12	1.09	\$32.83	05-28-22-22-0091
214 4th St # 227		white O 1 TF at	ماد ماد		\$32.83	
St Paul MN 55101-6103 *214 4TH ST E 227		*** Owner and Taxpayer *	**			
*Ward: 2		Total	l Assessment:		\$32.83	
*Pending as of: 1/28/2022			Payment:		\$0.00	
1 Chang as 01. 1/20/2022			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			off Amount:		\$32.83	
Amy Rardin	CIC NO 716 UNION DEPOT LOFTS	Mill and Overlay - Downto	wn 30.12	1.09	\$32.83	05-28-22-22-0093
214 4th St E Unit 229	UNIT NO.229			_	\$32.83	
St Paul MN 55101-6103 *214 4TH ST E 229		*** Owner and Taxpayer *	**			
*Ward: 2		Tota	Assessment:		\$32.83	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$32.83	

	I	Ratification Date:	Resolution	n #:		8	8
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Seth L Petersen	CIC NO 716 UNION DEPOT LOFTS UNIT NO.233	Mill and Overlay - I	Downtown	30.12	1.09	\$32.83	05-28-22-22-0096
2727 Nelson Rd Apt R301	UNII NO.255	destrict C 1 TT	de de de			\$32.83	
Longmont CO 80503-9353 *214 4TH ST E 233		*** Owner and Taxp	payer ***				
*Ward: 2			Total Asse	essment:		\$32.83	
*Pending as of: 1/28/2022			This Paym	nent:		\$0.00	
			Current Yo	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$32.83	
Us Bank Center Llc	CITY OF ST. PAUL WITH AIR RIGHTS &	Mill and Overlay - F	Downtown	30.95	310.00	\$9,594.50	06-28-22-12-0119
29 S Deep Lake Rd	SUBJ TO STS & WALKWAY LOTS 1	Mill and Overlay - I		30.95	310.00	\$9,594.50	00-20-22-12-0119
North Oaks MN 55127-6312	THRU 16 BLK 11; EX PART OF LOTS 1,2 & 3 & PART OF LOTS 14,15 & 16 DESC	2			=	\$19,189.00	
*101 5TH ST E *Ward: 2	AS FOL; BEG AT A PT ON W LINE OF WIDENED ROBERT ST & 24.24 FT NW	*** Owner and Taxp	payer ***				
*Pending as of: 1/28/2022			Total Asse	essment:		\$19,189.00	
			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$19,189.00	
Empire Building Llc	CITY OF ST. PAUL EX NELY 9 FT FOR	Mill and Overlay - Γ	Downtown	30.95	136.00	\$4,209.20	06-28-22-11-0014
375 Jackson St Ste 700w	ALLEY AND EX SWLY 4 54/100 FT	•			=	\$4,209.20	00 20 22 11 001 .
St Paul MN 55101-1810 *134 5TH ST E	THE NWLY 102 5/10 FT OF LOTS 3 4 AND LOT 5 BLK 17	*** Owner and Taxp	payer ***			ψ·,==>	
*Ward: 2			Total Asse	essment:		\$4,209.20	
*Pending as of: 1/28/2022			This Payn			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$4,209.20	

Owner or Taxpayer	Property Description	Item Description	<u> </u>	U nit Rate	Quantity	Charge Amts	Property ID
375 Jackson Courtly Llc	CAPITAL CENTRE NO. 1 LOT 3 BLK 1	Mill and Overlay - Dov	wntown	30.95	204.00	\$6,313.80	06-28-22-11-0007
375 Jackson St Ste 700w St Paul MN 55101-1810 *135 5TH ST E		*** Owner and Taxpay	yer ***		_	\$6,313.80	
*Ward: 2		;	Total Assessi	ment:		\$6,313.80	
*Pending as of: 1/28/2022		,	This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
		1	Payoff Amo	unt:		\$6,313.80	
Alliance Center Llc	CITY OF ST. PAUL EX SWLY 11 FT	Mill and Overlay - Do	wntown	30.95	289.00	\$8,944.55	06-28-22-12-0031
375 Jackson St Ste 700w	AND EX SELY 13 FT THE SELY 135	,			=	\$8,944.55	00-20-22-12-0051
St Paul MN 55101-2537 *55 5TH ST E	65/100 FT OF FOL H L CARVERS SUB OF PART OF BLK 10 CITY OF ST PAUL VAC ALLEY IN AND LANGEVINS SUB	*** Owner and Taxpay	yer ***			\$6,944.33	
*Ward: 2	OF PART OF BLK 10 CITY OF ST PAUL	;	Total Assessi	ment:		\$8,944.55	
*Pending as of: 1/28/2022		,	This Paymer	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
		•	Current Year	Interest:		\$0.00	
]	Payoff Amo	unt:		\$8,944.55	
Alliance Center Llc	WITH AIR RIGHTS OVER CEDAR AND	Mill and Overlay - Dov	wntown	30.95	300.00	\$9,285.00	06-28-22-12-0300
375 Jackson St Ste 700w	MINN STS AND SUBJ TO STS THE FOL;	·		50.55	=		00-20-22-12-0500
5/5 Jackson St Ste 700W St Paul MN 55101-2537 *56 6TH ST E	THE H. L. CARVERS SUB AND EX SELY 135.65 FT; LANGEVINS SUB AND IN SD CITY OF ST PAUL EX SELY 135.65	*** Owner and Taxpay	yer ***			\$9,285.00	
*Ward: 2	FT; LOT 9 AND ALL OF LOTS 1 THRU	;	Total Assess	ment:		\$9,285.00	
*Pending as of: 1/28/2022		,	This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
		1	Payoff Amo	unt•		\$9,285.00	

Public Improvement Assessment Roll by Address (Fee to A	Asmt) Project: MO2120	Assmt: 215520
Ratification Date:	Resolution #:	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Alliance Center Llc	UNIT NO. 1	Mill and Overlay - Do	owntown 30.95	116.50	\$3,605.68	06-28-22-12-0298
375 Jackson St Ste 700w St Paul MN 55101-2537		*** Owner and Taxpa	ver ***	_	\$3,605.68	
*56 6TH ST E 1		Owner and Taxpa	yei			
*Ward: 2			Total Assessment:		\$3,605.68	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal	:	\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$3,605.68	
St Paul Wabasha Partners Llc	UNIT NO. 2	Mill and Overlay - Do	owntown 30.95	80.50	\$2,491.48	06-28-22-12-0299
400 S Green St Ste H				=	\$2,491.48	
Chicago IL 60607-5562 *56 6TH ST E 2		*** Owner and Taxpa	yer ***		4=, 00 = 1.10	
*Ward: 2			Total Assessment:		\$2,491.48	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal	:	\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$2,491.48	
H F S Properties	PT OF BLK 19 LYING SWLY OF THE	Mill and Overlay - Do	owntown 30.95	205.00	\$6,344.75	31-29-22-43-1572
85 7th Pl E Ste 200	NELY 20 FT THEREOF AND LYING NELY NLY AND NWLY OF A L DESC	·		=	\$6,344.75	01 2/ 22 10 10/2
St Paul MN 55101-2143 *85 7TH PL E	AS COMM AT MOST SLY COR OF SD BLK 19 TH NELY ALONG SELY L OF	*** Owner and Taxpa	yer ***		ψο,εε	
*Ward: 2	SD BLK 19 105.28 FT TO POB TH		Total Assessment:		\$6,344.75	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal	:	\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$6,344.75	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Chateau Care Suites Llc	C. W. YOUNGMAN'S 2ND ADDITION	Mill and Overlay - St. I	Paul Ave 33.63	250.00	\$8,407.50	22-28-23-22-0006
12900 Whitewater Dr Ste 201	TO ST. PAUL PART NLY OF ST PAUL AVE AND 7TH ST AND SLY OF			_	\$8,407.50	
Minneapolis MN 55434-9407 *2319 7TH ST W	EXTENDED S LINE OF LANES EDGECOMBE HILLS OF FOL E 45 FT	*** Owner and Taxpay	er ***			
*Ward: 3	OF VAC ALCOTT ST W 1/2 OF VAC	- 1	Total Assessment:		\$8,407.50	
*Pending as of: 1/28/2022		Г	This Payment:		\$0.00	
-		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		I	Payoff Amount:		\$8,407.50	
Chateau Care Suites Llc	C. W. YOUNGMAN'S 2ND ADDITION	Mill and Overlay - St. I	Paul Ave 33.63	155.00	\$5,212.65	22-28-23-22-0004
12900 Whitewater Dr Ste 201	TO ST. PAUL VAC ALLEY ACCRUING	Williand Overlay - St. 1	dui / 1 33.03	=		22-28-23-22-0004
Minneapolis MN 55434-9407 *2365 7TH ST W	TO LOT 4 AND FOL SUBJ TO ST AND AVE THE FOL LOTS 1 THRU LOT 4 BLK 3	*** Owner and Taxpay	er ***	\$5,212.65		
*Ward: 3			Total Assessment:		\$5,212.65	
*Pending as of: 1/28/2022		Γ	This Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		I	Payoff Amount:		\$5,212.65	
Capitol City Holding Company	C. W. YOUNGMAN'S 2ND ADDITION	Mill and Overlay - St. I	Paul Ave 33.63	130.00	\$4,371.90	22-28-23-22-0003
246 Slbert St S	TO ST. PAUL VAC AVE AND ALLEY	Williama Overlay St. 1	33.03	=		22-20-23-22-0003
240 Sident St 5 St Paul MN 55105-2458 *2379 7TH ST W	ACCRUING AND FOL SUBJ TO ST LOTS 5 6 AND LOT 7 BLK 3	*** Owner and Taxpay	er ***		\$4,371.90	
*Ward: 3		_ T	Total Assessment:		\$4,371.90	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
-			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		I	Payoff Amount:		\$4,371.90	

Ratification	Date:	Reso	lution

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Ronald Staeheli	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Mill and Overlay - Jo	efferson Av	25.74	125.00	\$3,217.50	11-28-23-14-0051
358 Arbor St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 11				_	\$3,217.50	
St Paul MN 55102-3525	BLK 19	*** Owner and Taxp	oayer ***				
*358 ARBOR ST							
*Ward: 2			Total Asse			\$3,217.50	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An	nount:		\$3,217.50	
Timothy Karel	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - Jo	efferson Av	25.74	83.00	\$2,136.42	11-28-23-11-0096
344 Bay St	10, STINSON, BROWN AND RAMSEY'S	·			=	\$2,136.42	11 20 20 11 0000
St Paul MN 55102-3210	ADDITION TO ST. PAUL LOTS 44 & LOT 45 BLK 10	*** Owner and Taxp	oaver ***			\$2,130.42	
*344 BAY ST		1					
*Ward: 2			Total Asse	ssment:		\$2,136.42	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
				ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	nount:		\$2,136.42	
Kate Lynne Elizabeth Snyder	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Mill and Overlay - Jo	efferson Av	25.74	117.00	\$3,011.58	11-28-23-14-0071
358 Bay St	EAST HALF OF 26, IN STINSON,	,			=	\$3,011.58	11-20-25-14-00/1
St Paul MN 55102-3512	BROWN & RAMSEY'S ADD. EX ALLEY LOT 31 BLK 19	*** Owner and Taxp	aver ***			φ3,011.30	
*358 BAY ST	ALLEI EOI 31 DEK 17	O Hor und Taxp	- J - J				
*Ward: 2			Total Asse	ssment:		\$3,011.58	
*Pending as of: 1/28/2022			This Paym			\$0.00	
5				ear Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An	nount:		\$3,011.58	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Michael Nayman	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - F	airview Av	38.26	83.00	\$3,175.58	33-29-23-12-0180
1818 Blair Ave	CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA W 40 FT OF LOTS 6 AND				_	\$3,175.58	
St Paul MN 55104-1704	LOT 7 BLK 2	*** Owner and Taxp	ayer ***				
*1818 BLAIR AVE							
*Ward: 4			Total Asse			\$3,175.58	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An	nount:		\$3,175.58	
	CITY OF ST. PAUL SUBJ TO 4TH ST	M:11 1 O1 D		30.95	155.00	¢4.707.25	
Pioneer Apartments Lllp	AND CEDAR ST AND EX SWLY 167	Mill and Overlay - D	owntown	30.93	133.00	\$4,797.25	06-28-22-12-0057
579 Selby Ave St Paul MN 55102-1730	5/10 FT BLK 20	*** 0 17	***			\$4,797.25	
*345 CEDAR ST		*** Owner and Taxp	ayer ***				
*Ward: 2			Total Asse	ssment:		\$4,797.25	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ear Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	nount:		\$4,797.25	
Town Savan Condon I lo	REGISTERED LAND SURVEY 518	Mill and Overlay - D		30.95	5.78	\$178.89	06 20 22 12 0121
Town Square Garden Llc	PART OF TRACT GGG WHICH LIES	Willi alid Overlay - D	owntown	30.93	3.78		06-28-22-12-0121
1557 Simpson St St Paul MN 55108-2342	DIRECTLY ABOVE TRACT ZZ	*** Orrman and T	or.o. ***			\$178.89	
*420 CEDAR ST	TOGETHER WITH ALL OF TRACTS HHH & III	*** Owner and Taxp	ayer ***				
*Ward: 2			Total Asse	ssment:		\$178.89	
*Pending as of: 1/28/2022			This Paym			\$0.00	
3			•	ear Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An			\$178.89	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Gregory A Lehman	RAMSEY'S SUBDIVISION OF BLOCK	Mill and Overlay - Je	efferson Av	25.74	119.00	\$3,063.06	11-28-23-13-0033
360 Clifton St	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 34 BLK				_	\$3,063.06	
St Paul MN 55102-3402	21	*** Owner and Taxp	oayer ***				
*360 CLIFTON ST							
*Ward: 2			Total Asse	ssment:		\$3,063.06	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$3,063.06	
Independent School Dist 625	Lots 1 Thru Lot 15 Blk 37	Mill and Overlay - Je	efferson Av	25.74	150.00	\$3,861.00	11-28-23-13-0043
360 Colborne St		·			=	\$3,861.00	11 20 20 10 00 10
St Paul MN 55102-3299		*** Owner and Taxp	oaver ***			\$5,001.00	
*397 CLIFTON ST			,				
*Ward: 2			Total Asse	ssment:		\$3,861.00	
*Pending as of: 1/28/2022			This Paym	ient:		\$0.00	
				ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	nount:		\$3,861.00	
Daniel J Ballek	THOMAS DALY'S SUBDIVISION OF	Mill and Overlay - Je	efferson Av	25.74	100.00	\$2,574.00	11-28-23-14-0011
357 Daly St	BLOCKS 18 & 31 OF STINSON, BROWN			2017	=	\$2,574.00	11-20-25-14-0011
St Paul MN 55102-3513	& RAMSEY'S ADDITION LOT 23 BLK 18	*** Owner and Taxp	vaver ***			\$2,374.00	
*357 DALY ST	10	Owner and raxp	ou y C1				
*Ward: 2			Total Asse	ssment:		\$2,574.00	
*Pending as of: 1/28/2022			This Paym			\$0.00	
6			-	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$2,574.00	

Ratification D

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Norma A Alexander Tr	GRANPORT ADDITION E 1/2 OF LOT 3	Mill and Overlay - S	t. Paul Ave	33.63	117.00	\$3,934.71	21-28-23-12-0037
1215 Davern St	AND ALL OF LOTS 1 AND LOT 2 BLK				_	\$3,934.71	
St Paul MN 55116-2768	·	*** Owner and Taxpayer ***					
*1215 DAVERN ST *Ward: 3			Total Asses	sment:		\$3,934.71	
*Pending as of: 1/28/2022			This Payme			\$0.00	
1 onding us of: 1/20/2022			Current Yea			\$0.00	
			Current Yea	•		\$0.00	
			Payoff Am			\$3,934.71	
Davier Barl Books Co	SNELLING OUT LOTS EX S 132 FT	Mill and Overlay - S	 t Paul Ave	33.63	1,285.00	\$43,214.55	21 20 22 11 0002
Davern Park Realty Co 37 Isabel St E	PART BET ST PAUL AVE AND	Willi alid Overlay - 3	t. I aui Avt	33.03	1,283.00		21-28-23-11-0002
57 Isabel St E St Paul MN 55107-2224 *1264 DAVERN ST	EXTENDED N L OF WILMOT AVE OF FOL LOTS 15 16 17 22 AND LOT 23	*** Owner and Taxp	ayer ***	\$43,214.55			
*Ward: 3			Total Asses	sment:		\$43,214.55	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$43,214.55	
Port Authority Of St Paul	LOT 2 AND LOT 3 BLK 2	Mill and Overlay - W	Vest Side F	19.38	28.00	\$542.64	05-28-22-34-0081
380 St Peter St Ste 850				17.50	=	\$542.64	05-20-22-54-0001
St Paul MN 55102-1313 *0 EATON ST		*** Owner and Taxpayer ***				\$342.04	
*Ward: 2			Total Asses	sment:		\$542.64	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount.		\$542.64	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO2120 Assmt: 215520 Manager: LMR **Ratification Date:** Resolution #:

		Ratification Date:	Resolution	n #:			
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
City Of St Paul	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - V	West Side F	19.38	43.00	\$833.34	08-28-22-12-0111
25 4th St W # 1000 St Paul MN 55102-1692	11 PART OF LOT 5 BLK 3 LYING SLY OF A LINE DESC AS FOL BEG AT THE					\$833.34	***EXEMPT***
*0 EATON ST	THENCE N 70 DEG 52 MIN 11 SEC W						
*Ward: 2	ALONG SD SLY LOT LINE 60 FT		Total Asse	essment:		\$833.34	
*Pending as of: 1/28/2022			This Paym	nent:		\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$833.34	
Nif Proportice I le	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - V	West Side F	19.38	261.00	\$5,058.18	05 29 22 24 0066
Njf Properties Llc 122 Wabasha St	11 LOT 17 BLK 1	Williand Overlay - V	West Side I	17.36	=		05-28-22-34-0066
St Paul MN 55107-1818		*** Owner and Tax	naver ***			\$5,058.18	
*150 EATON ST		Owner and rax	payer				
*Ward: 2			Total Asse	essment:		\$5,058.18	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$5,058.18	
	DIVENUEW DIVICED AT DADVIC			10.20	205.00	Ф7 (55 10	
Loehrer Acquisitions Llc 155 Eaton St	RIVERVIEW INDUSTRIAL PARK NO. 11 LOT 1 BLK 2	Mill and Overlay - V Mill and Overlay - V		19.38 19.38	395.00 139.00	\$7,655.10 \$2,693.82	05-28-22-34-0070
St Paul MN 55107-1602		Williand Overlay - V	West Side I	17.36	137.00 =		
*155 EATON ST		*** Owner and Tax	2011er ***			\$10,348.92	
Ward: 2		Owner and rax	payer				
*Pending as of: 1/28/2022			Total Asse	essment:		\$10,348.92	
-			This Paym	nent:		\$0.00	
			Current Ye	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$10,348.92	

Public Improvement Assessment Roll by Address (Fee to Asmt)	Project: MO2120	Assmt: 215520	Manager: LMR
Ratification Date: Re	esolution #:		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Port Authority Of St Paul	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - Wes	st Side F 19.38	31.00	\$600.78	05-28-22-34-0069
380 St Peter St Ste 850 St Paul MN 55102-1313 *216 EATON ST	11 LOT 20 BLK 1	*** Owner and Taxpay	ver ***	=	\$600.78	
*Ward: 2		-	Total Assessment:		\$600.78	
*Pending as of: 1/28/2022		7	This Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		I	Payoff Amount:		\$600.78	
Eaton Street Llc	Part Of Lot 23 Blk 1 Lying Wly Of Fol	Mill and Overlay - Wes	st Side F 19.38	274.00	\$5,310.12	08-28-22-12-0104
800 Lone Oak Rd	Desc Line Beg At A Pt On Nely Line Of	,		= =	\$5,310.12	00-20-22-12-0104
Eagan MN 55121-2212 *260 EATON ST	Lot 23 220 Ft Nwly Of Ne Cor Sd Lot Th Sly To Pt On Swly Line Of Lot 23 125 Ft Nwly Of Se Cor Sd Lot & There Term	*** Owner and Taxpay	/er ***	\$3,310.12		
*Ward: 2		7	Total Assessment:		\$5,310.12	
*Pending as of: 1/28/2022		7	This Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		J	Payoff Amount:		\$5,310.12	
St Paul Public Works	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - Wes	st Side F 19.38	235.00	\$4,554.30	08-28-22-12-0105
25 4th St W Ste 1500	11 PART OF LOT 23 BLK 1 DESC AS	· ,		=	\$4,554.30	***EXEMPT***
St Paul MN 55102-1966 *370 EATON ST	BEG AT SE COR SD LOT TH NLY ON EL TO NE COR LOT 23 TH NWLY ON NELY LINE SD LOT 220 FT TH SLY TO	*** Owner and Taxpay	/er ***		Ф Т, ЈУТ.ЈU	LALIVII I
*Ward: 2	PT ON SWLY SD LOT 125 FT NWLY OF	-	Total Assessment:		\$4,554.30	
*Pending as of: 1/28/2022		7	This Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		I	Payoff Amount:		\$4,554.30	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO2120 Assmt: 215520 Manager: LMR **Ratification Date:** Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Loehrer Acquisitions Llc	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - W	Vest Side F	19.38	122.00	\$2,364.36	05-28-22-34-0076
155 Eaton St	11 THAT PART LYING S OF FOL DESC L;COM AT MOST ELY COR OF LOT 16				_	\$2,364.36	
St Paul MN 55107-1602	THEN NWLY ALONG NELY L OF	*** Owner and Taxp	ayer ***				
*0 EVA ST	LOTS 15 & 16 FOR 125.06 FT TO PT OF BEG OF SD L THEN S 68 DEG 28 MIN						
*Ward: 2	BEG OF SDE THEN 500 BEG 20 MIN		Total Asse			\$2,364.36	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$2,364.36	
First Industrial Lp	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - W	Vest Side F	19.38	1,066.00	\$20,659.08	05-28-22-32-0001
10140 W 76th St	LOT 7 BLK 4	will and Overlay - w	vest blue i	17.50	=		05-26-22-32-0001
Eden Prairie MN 55344-3728	- 10 11 10 11 11 11 11 11 11 11 11 11 11					\$20,659.08	
*139 EVA ST		*** Owner and Taxp	ayer				
*Ward: 2			Total Asse	ssment [,]		\$20,659.08	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			-	ar Principal:		\$0.00	
			Current Ye	•		\$0.00	
			Payoff An	nount:		\$20,659.08	
Riverview Industrial Ventures Llc	RIVERVIEW INDUSTRIAL PARK NO.1 EX THE ELY 8.5 FT; THE FOL; SLY 60	Mill and Overlay - W	Vest Side F	19.38	658.00	\$12,752.04	05-28-22-31-0027
570 N Asbury St	FT OFLOT 3 & ALL OF LOT 4 & LOT 5					\$12,752.04	
St Paul MN 55104-1849 * 150 EVA ST	BLK 3	*** Owner and Taxp	ayer ***				
*Ward: 2			Total Asse	ssment:		\$12,752.04	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$12,752.04	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Riverview Mn Land Llc	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - W	Vest Side F	19.38	486.00	\$9,418.68	05-28-22-34-0077
12608 Riverview Rd	11 THAT PART LYING N OF FOLL DESC LINE COM AT MOST ELY COR					\$9,418.68	
Eden Prairie MN 55347-4609 *291 EVA ST	OF LOT 16 THEN NWLY ALONG THE NELY L OF LOTS 15 & 16 FOR 125.06	*** Owner and Taxp	ayer ***				
*Ward: 2	FT TO PT OF BEG OF SD L THEN S 68		Total Asse	ssment:	\$9,418.68		
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$9,418.68	
	REGISTERED LAND SURVEY 442	Mill and Overlay - D	owntown	30.95	202.00	\$6,251.90	06-28-22-21-0053
Po 59318	TRACT B	Mill and Overlay - D		30.95	585.00	\$18,105.75	00-20-22-21-0055
Minneapolis MN 55459-0318		•			=	\$24,357.65	
*69 EXCHANGE ST W		*** Owner and Taxp	ayer ***			Ψ2 1,337.03	
*Ward: 2		•					
*Pending as of: 1/28/2022		Total Assessment:				\$24,357.65	
			This Paym	ent:		\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$24,357.65	
 Sharia Funding Llc	REGISTERED LAND SURVEY 337 SUBJ	Mill and Overlay - F	airview Av	38.26	189.00	\$7,231.14	33-29-23-21-0005
3059 Joppa Ave	TO ST; S 155.94 FT OF TRACT F & ALL	•			=	\$7,231.14	00 2) 20 21 0000
Saint Louis Park MN 55416-4458 *605 FAIRVIEW AVE N	OF TRACT D	*** Owner and Taxpayer ***				Ψ1,231.14	
*Ward: 4			Total Asse	ssment:		\$7,231.14	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$7,231.14	

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Fyr Sfr Borrower Llc	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - Fa	airview Av	38.26	41.00	\$1,568.66	33-29-23-12-0212
3505 Koger Blvd Ste 400	CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOT 10 BLK 1				_	\$1,568.66	
Ouluth GA 30096-7672		*** Owner and Taxp	ayer ***				
*610 FAIRVIEW AVE N							
*Ward: 4			Total Asse			\$1,568.66	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$1,568.66	
Daniel Flesher	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - Fa	airview Av	38.26	42.00	\$1,606.92	33-29-23-12-0211
612 Fairview Ave N	CITY OF ST. PAUL, RAMSEY COUNTY,	,			=	\$1,606.92	33-27-23-12-0211
St Paul MN 55104-1710	MINNESOTA LOT 9 BLK 1	*** Owner and Taxp	aver ***			\$1,000.92	
*612 FAIRVIEW AVE N		o which allo ramp	, 01				
*Ward: 4			Total Asse	ssment:		\$1,606.92	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	nount:		\$1,606.92	
D D 1/4 I	REGISTERED LAND SURVEY 337	Mill and Overlay - Fa		38.26	220.00	\$9.417.20	22 20 22 21 0002
Bauer Built Inc	TRACT B	Milli and Overlay - Fa	airview Av	38.20	220.00 =	\$8,417.20	33-29-23-21-0003
Po Box 248 Durand WI 54736-0248		*** O 1.T	ale ale ale			\$8,417.20	
*625 FAIRVIEW AVE N		*** Owner and Taxp	ayer ***				
*Ward: 4			Total Asse	ssment:		\$8,417.20	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An	ount:		\$8,417.20	

	Ţ.	Ratification Date:	Resolution	n #:		C	
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Gjmh Llc	REGISTERED LAND SURVEY 337	Mill and Overlay - I	Fairview Av	38.26	74.00	\$2,831.24	33-29-23-21-0004
635 Fairview Ave N	TRACT C				_	\$2,831.24	
St Paul MN 55104-1709		*** Owner and Tax	payer ***				
*635 FAIRVIEW AVE N						******	
*Ward: 4			Total Asse			\$2,831.24	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$2,831.24	
James R Krawetz	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - I	Fairview Av	38.26	42.00	\$1,606.92	33-29-23-12-0181
44 Prior Ave S	CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOT 8 BLK 2				=	\$1,606.92	00 12 12 VIOI
St Paul MN 55105-1424	MINNESUTA LOT 8 BLK 2	*** Owner and Tax	payer ***			ψ1,000.52	
*650 FAIRVIEW AVE N							
*Ward: 4			Total Asse	essment:		\$1,606.92	
*Pending as of: 1/28/2022			This Paym	nent:		\$0.00	
			Current Ye	ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	nount:		\$1,606.92	
Tracy J Lindgren	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - I	 Fairview Av	38.26	42.00	\$1,606.92	33-29-23-12-0155
664 Fairview Ave N	CITY OF ST. PAUL, RAMSEY COUNTY,		un view iiv	30.20		\$1,606.92	33-23-23-12-0133
St Paul MN 55104-1712	MINNESOTA LOT 11 BLK 3	*** Owner and Tax	naver ***			\$1,000.92	
*664 FAIRVIEW AVE N		Owner and rax	payor				
*Ward: 4			Total Asse	essment:		\$1,606.92	
*Pending as of: 1/28/2022			This Paym			\$0.00	
<i>5</i>			•	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An			\$1,606.92	

one improvement rissessiment ris.	55 12441 655 (2 66 60 11	isine) I rojecti iii
	Ratification Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Matthew Angela Benyon Benyon	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - F	airview Av	38.26	45.00	\$1,721.70	33-29-23-12-0154
670 Fairview Ave N	CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA S 4 FT OF LOT 9 AND				_	\$1,721.70	
St Paul MN 55104-1712 * 670 FAIRVIEW AVE N	ALL OF LOT 10 BLK 3	*** Owner and Taxp	payer ***				
*Ward: 4			Total Asses	sment.		\$1,721.70	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Am	ount:		\$1,721.70	
Susan F Hardy	MAYWOOD, AND ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY,	Mill and Overlay - F	Fairview Av	38.26	41.00	\$1,568.66	33-29-23-12-0151
682 Fairview Ave	MINNESOTA LOT 7 BLK 3					\$1,568.66	
St Paul MN 55104-1712 * 682 FAIRVIEW AVE N		*** Owner and Taxp	payer ***				
*Ward: 4			Total Asses	sment:		\$568.66	
*Pending as of: 1/28/2022			This Payme	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$568.66	
Northwest Publications Lessee	RIVERVIEW INDUSTRIAL PARK NO.1 LOT 2 BLK 3	Mill and Overlay - V		19.38	262.00 277.00	\$5,077.56 \$5,268.26	05-28-22-23-0015
345 Cedar St St Paul MN 55102-1313		Mill and Overlay - V	west side r	19.38	= =	\$5,368.26	
*220 FILLMORE AVE E		*** Owner ***				\$10,445.82	
*Ward: 2		o wher					
*Pending as of: 1/28/2022			Total Asses	sment:		\$10,445.82	
			This Payme			\$0.00	
			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Am	ount: 		\$10,445.82	
Port Authority Of St Paul 380 St Peter St Ste 850	RIVERVIEW INDUSTRIAL PARK NO.1 LOT 2 BLK 3	*** Taxpayer ***					05-28-22-23-0015
St Paul MN			Total Asses			\$10,445.82	
*220 FILLMORE AVE E			This Payme			\$0.00	
*Ward: 2			Current Yea	-		\$0.00	
*Pending as of: 1/28/2022			Current Yea Payoff Ame			\$0.00 \$10.445.82	
			rayon Am	ount:		\$10,445.82	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO2120 Assmt: 215520 Manager: LMR

	I	Ratification Date: Reso	lution #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Woodchuck Industrial Llc	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - West Si		0.00	\$0.00	05-28-22-24-0014
274 Fillmore Ave E	LOT 1 BLK 2	Mill and Overlay - West Si	de F 19.38	344.00	\$6,666.72	
St Paul MN 55107-1417		which C 1T when	ale ale		\$6,666.72	
*274 FILLMORE AVE E *Ward: 2		*** Owner and Taxpayer *	**			
*Pending as of: 1/28/2022		Tota	Assessment:		\$6,666.72	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$6,666.72	
Dark Andlania Of St. Danil	RIVERVIEW INDUSTRIAL PARK NO.	Mill and Overlay - West Si	de F 19.38	314.00	\$6,085.32	05 20 22 42 0022
Port Authority Of St Paul 380 St Peter St Ste 850 St Paul MN 55102-1313	11 OUTLOT A RIVERVIEW	Will and Overlay - West Si	ue r 19.36	314.00	· · · · · · · · · · · · · · · · · · ·	05-28-22-43-0033
	INDUSTRIAL PARK NO.6 & IN SD RIVERVIEW INDUSTRIAL PARK NO.11	*** Owner and Taxpayer *	**	\$6,085.32		
*320 FLORIDA ST *Ward: 2	N 68.8 FT OF LOTS 3 AND LOT 4 TOGETHER WITH ALL OF LOTS 1	Tota	Assessment:		\$6,085.32	
*Pending as of: 1/28/2022			Payment:		\$0.00	
1 onding as 61. 1/20/2022			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$6,085.32	
Stephen R Pastick	RAMSEY'S SUBDIVISION OF BLOCK 21, STINSON, BROWN AND RAMSEY'S	Mill and Overlay - Jefferso	n Av 25.74	119.00	\$3,063.06	11-28-23-13-0032
357 Fulton St St Paul MN 55102-3406	ADDITION TO ST. PAUL LOT 33 BLK	*** Owner and Taxpayer *	**		\$3,063.06	
*357 FULTON ST		T			ф2 0/2 0/	
Ward: 2			Assessment:		\$3,063.06	
*Pending as of: 1/28/2022			Payment: ent Year Principal:		\$0.00 \$0.00	
			ent Year Principal: ent Year Interest:		\$0.00 \$0.00	
		Curr	em rear mierest:		\$0.00	

Payoff Amount:

\$3,063.06

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Gary E Ballman	SUBDIVISION OF BLOCKS 19, 21 AND	Mill and Overlay - W	Jestern Avo	24.08	50.00	\$1,204.00	01-28-23-24-0127
384 Holly Ave	PART OF 20 OF WOODLAND PARK ADDITON, ST. PAUL, MINN. N 50 FT				_	\$1,204.00	
St Paul MN 55102-2204	OF LOTS 21 AND LOT 22 BLK 20	*** Owner and Taxp	ayer ***				
*384 HOLLY AVE							
*Ward: 1			Total Asses			\$1,204.00	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye Payoff Am			\$0.00	
			rayon An	iount:		\$1,204.00	
Jackson Rp Llc	CAPITAL CENTRE NO. 1 LOT 1 BLK 2	Mill and Overlay - D	owntown	30.95	84.00	\$2,599.80	06-28-22-11-0013
275 4th St Unit 720					_	\$2,599.80	00 20 22 11 0010
St Paul MN 55102-3526		*** Owner and Taxp	ayer ***			Ψ2,333.00	
*345 JACKSON ST		_					
*Ward: 2			Total Asses	ssment:		\$2,599.80	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
				ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$2,599.80	
375 Jackson Courtly Llc	CAPITAL CENTRE NO. 1 LOT 1 BLK 1	Mill and Overlay - D	owntown	30.95	121.00	\$3,744.95	06-28-22-11-0005
375 Jackson St Ste 700w		Mill and Overlay - D		30.95	121.00	\$3,744.95	00-20-22-11-0003
St Paul MN 55101-1810					_	\$7,489.90	
*375 JACKSON ST *Ward: 2		*** Owner and Taxp	ayer ***			ψη, 102.20	
*Pending as of: 1/28/2022			Total Asses	ssment:		\$7,489.90	
5			This Paym			\$0.00	
			-	ar Principal:		\$0.00	
			Current Ye	•		\$0.00	
			Payoff Am	ount:		\$7,489.90	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Bryant L Cox	STINSON, BROWN AND RAMSEY'S	Mill and Overlay - Jef	ferson Av 25.74	25.00	\$643.50	12-28-23-22-0061
559 Jefferson Ave	ADDITION TO ST. PAUL E 24 80/100 FT OF LOTS 1 AND LOT 2 BLK 12			_	\$643.50	
St Paul MN 55102-3215		*** Owner and Taxpay	/er ***			
*559 JEFFERSON AVE *Ward: 2			Total Assessment:		\$643.50	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$643.50	
Evan D Witt	STINSON, BROWN AND RAMSEY'S	Mill and Overlay - Jefl	Ferson Av 25.74	22.00	\$566.28	12-28-23-22-0060
363 Toronto St	ADDITION TO ST. PAUL W 23 10/100	Time who is verience to the	2017	=======================================	\$566.28	12-20-23-22-0000
St Paul MN 55102-3622	FT OF E 47 90/100 FT OF LOTS 1 AND LOT 2 BLK 12	*** Owner and Taxpay	/er ***		\$300.28	
*563 JEFFERSON AVE	EOT 2 BER 12	o wher and ranpag	, 61			
*Ward: 2			Total Assessment:		\$566.28	
*Pending as of: 1/28/2022		1	This Payment:		\$0.00	
-			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$566.28	
Od. d I l.	CTINICONI DDOWNI AND DAMCEVIC	Mill and Overlay Left	Ferson Av 25.74	27.00	\$604.08	12 20 22 22 0050
Osterbauer Llc	STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL W 27 10/100	Mill and Overlay - Jef	terson Av 25.74	27.00	\$694.98	12-28-23-22-0059
15520 Logarto Ln Burnsville MN 55306-5134	FT OF E 75 FT OF LOTS 1 AND LOT 2	*** 0 1 T	***		\$694.98	
*565 JEFFERSON AVE	BLK 12	*** Owner and Taxpay	er ***			
*Ward: 2		,	Total Assessment:		\$694.98	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$694.98	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Nick Bredemus	STINSON, BROWN AND RAMSEY'S	Mill and Overlay - Je	efferson Av	25.74	64.00	\$1,647.36	12-28-23-22-0084
4510 Chase Way Eagan MN 55123-1819 *573 JEFFERSON AVE	ADDITION TO ST. PAUL EX W 60 FT AND EX E 1 FT LOTS 23 AND LOT 24 BLK 12	*** Owner and Taxp	ayer ***			\$1,647.36	
*Ward: 2			Total Asses	sment:		\$1,647.36	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$1,647.36	
Manuel Alejandro Rojo Garcia	STINSON, BROWN AND RAMSEY'S	Mill and Overlay - Je	efferson Av	25.74	60.00	\$1,544.40	12-28-23-22-0083
585 Jefferson Ave ADDITION TO ST. PA	ADDITION TO ST. PAUL W 60 FT OF	,			=	\$1,544.40	12 20 23 22 0003
St Paul MN 55102-3215 *585 JEFFERSON AVE	LOTS 23 AND LOT 24 BLK 12	*** Owner and Taxp	ayer ***			\$1,544.40	
*Ward: 2			Total Asses	sment:		\$1,544.40	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
			Payoff Am	ount:		\$1,544.40	
Amanda Skorich	BUCKHOUTS RE OF LOTS 25, 27, 46,	Mill and Overlay - Je	efferson Av	25.74	42.00	\$1,081.08	12-28-23-22-0117
605 Jefferson Ave	47, & 48 OF BLK 12 & LTS 31, 32 & 33				_	\$1,081.08	12 20 20 22 0117
St Paul MN 55102-3217 *605 JEFFERSON AVE	OF BLK 17 OF STINSON BROWN AND RAMSEY LOT 3 BLK 1	*** Owner and Taxp	ayer ***			ψ1,001.00	
*Ward: 2			Total Asses	sment:		\$1,081.08	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$1,081.08	

-			-	
Кя	titics	ation	Date:	

Owner or Taxpayer	Property Description	Item Description	<u>Uni</u>	t Rate	Quantity	Charge Amts	Property ID
Kathryn E Estlie	DAWSON AND SMITHS SUBDIVISION	Mill and Overlay - Jef	fferson Av	25.74	80.00	\$2,059.20	11-28-23-11-0022
627 Jefferson Ave St Paul MN 55102-3242 *627 JEFFERSON AVE	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION LOTS 11 & LOT 12 BLK 1	*** Owner and Taxpa	yer ***		_	\$2,059.20	
*Ward: 2			Total Assessmen	nt:		\$2,059.20	
*Pending as of: 1/28/2022			This Payment:			\$0.00	
			Current Year Pri			\$0.00	
			Current Year Int			\$0.00	
			Payoff Amount	:		\$2,059.20	
Okkoy Tamedo Graham	THOMAS DALY'S SUBDIVISION OF	Mill and Overlay - Jef	fferson Av	25.74	54.00	\$1,389.96	11-28-23-14-0010
630 Jefferson Ave 8 BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 22 BLK 8 Taul MN 55102-3251 8 *630 JEFFERSON AVE	•			=	\$1,389.96	11 20 20 11 0010	
		*** Owner and Taxpa	yer ***			\$1,507.70	
*Ward: 2			Total Assessmen	nt:		\$1,389.96	
*Pending as of: 1/28/2022			This Payment:			\$0.00	
			Current Year Pri	•		\$0.00	
			Current Year Int			\$0.00	
			Payoff Amount	:		\$1,389.96	
Tamara J Denning	DAWSON AND SMITHS SUBDIVISION	Mill and Overlay - Jef	fferson Av	25.74	40.00	\$1,029.60	11-28-23-11-0047
653 Jefferson Ave	OF BLOCK 11 OF STINSON, BROWN				=	\$1,029.60	11 20 20 11 00
St Paul MN 55102-3243 * 653 JEFFERSON AVE	AND RAMSEY'S ADDITION LOT 12 BLK 2	*** Owner and Taxpa	yer ***			Ψ1,022.00	
*Ward: 2			Total Assessmer	nt:		\$1,029.60	
*Pending as of: 1/28/2022			This Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
			Current Year Int	erest:		\$0.00	
			Payoff Amount	:		\$1,029.60	

Public Improvement Assessment Roll by Address (Fee to Asmt)	Project: MO2120	Assmt: 215520	Manager: LMR
Ratification Date: R	esolution #•		

	F	Ratification Date:	Resolutio	n #:			.
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
John Mitchell Omahoney	DAWSON AND SMITHS SUBDIVISION	Mill and Overlay - J	Jefferson Av	25.74	40.00	\$1,029.60	11-28-23-11-0048
659 Jefferson Ave	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION LOT 13				_	\$1,029.60	
St Paul MN 55102-3243 *659 JEFFERSON AVE	BLK 2	*** Owner and Tax	payer ***				
*Ward: 2			Total Asse	essment:		\$1,029.60	
*Pending as of: 1/28/2022			This Payn			\$0.00	
			-	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff Ar	nount:		\$1,029.60	
Matthew H Kapsner	THOMAS DALY'S SUBDIVISION OF	Mill and Overlay - J	 Jefferson Av	25.74	54.00	\$1,389.96	11-28-23-14-0030
660 Jefferson Ave	BLOCKS 18 & 31 OF STINSON, BROWN			2017 1	=	\$1,389.96	11-20-23-14-0030
St Paul MN 55102-3252 *660 JEFFERSON AVE	& RAMSEY'S ADDITION EX E 26 75/100 FT OF S 10 FT LOT 43 BLK 18	*** Owner and Tax	payer ***			\$1,389.90	
*Ward: 2			Total Asse	essment:		\$1,389.96	
*Pending as of: 1/28/2022			This Payn	nent:		\$0.00	
			Current Yo	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff Ar	nount:		\$1,389.96	
John-Michael Cross	DAWSON AND SMITHS SUBDIVISION	Mill and Overlay - J	Jefferson Av	25.74	40.00	\$1,029.60	11-28-23-11-0050
667 Jefferson Ave	OF BLOCK 11 OF STINSON, BROWN	,			=	\$1,029.60	11 20 20 11 0030
St Paul MN 55102-3243 *667 JEFFERSON AVE	AND RAMSEY'S ADDITION LOT 15 BLK 2	*** Owner and Tax	payer ***			\$1,025.00	
*Ward: 2			Total Asse	essment:		\$1,029.60	
*Pending as of: 1/28/2022			This Payn			\$0.00	
-				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff Ar	nount:		\$1,029.60	

I age 27	P	age	e 27
----------	---	-----	------

	•	Ratification Date:	Resolution	n #:		Ü	
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Ellen Beaver	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - J	efferson Av	25.74	42.00	\$1,081.08	11-28-23-11-0072
677 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 12 BLK				_	\$1,081.08	
St Paul MN 55102-3244	10	*** Owner and Taxp	oayer ***				
*677 JEFFERSON AVE							
*Ward: 2			Total Asse	essment:		\$1,081.08	
*Pending as of: 1/28/2022			This Payn			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$1,081.08	
Jordan M Bird	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - J	efferson Av	25.74	42.00	\$1,081.08	11-28-23-11-0073
681 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S	,			=	\$1,081.08	11-20-25-11-0075
St Paul MN 55102-3244	ADDITION TO ST. PAUL LOT 13 BLK 10	*** Owner and Taxr	naver ***			\$1,001.00	
*681 JEFFERSON AVE	10	o wher and rung	, u , u ,				
*Ward: 2			Total Asse	essment:		\$1,081.08	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			Current Ye	ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	nount:		\$1,081.08	
Edward C Johnson	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - J	efferson As	25.74	42.00	\$1,081.08	11 20 22 11 0074
687 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S	Williand Overlay - J	CHCISOH A	23.74	42.00 =		11-28-23-11-0074
St Paul MN 55102-3244	ADDITION TO ST. PAUL LOT 14 BLK	*** 0 1 T	***			\$1,081.08	
*687 JEFFERSON AVE	10	*** Owner and Taxp	bayer ***				
*Ward: 2			Total Asse	vaamant:		\$1,081.08	
*Pending as of: 1/28/2022			This Paym			\$1,081.08	
1 Chaing as 01. 1/20/2022			•	ear Principal:		\$0.00 \$0.00	
				ear Interest:		\$0.00	
			Payoff An			\$1,081.08	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Thomas P Davern	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - Jet	fferson Av	25.74	42.00	\$1,081.08	11-28-23-11-0075
691 Jefferson Ave St Paul MN 55102-3244 * 691 JEFFERSON AVE	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL E O 50/100 FT OF LOT 16 AND ALL OF LOT 15 BLK 10	*** Owner and Taxpa	yer ***		_	\$1,081.08	
*Ward: 2			Total Asses	sment:		\$1,081.08	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
· ·			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Am	ount:		\$1,081.08	
	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - Jet	fferson Av	25.74	45.00	\$1,158.30	11-28-23-11-0077
Po 50912	10, STINSON, BROWN AND RAMSEY'S	•			=	\$1,158.30	11 20 20 11 0077
Mendota MN 55150-0912 *699 JEFFERSON AVE	ADDITION TO ST. PAUL EX E O 50/100 FT LOT 17 BLK 10	*** Owner and Taxpa	yer ***			\$1,130.30	
*Ward: 2			Total Asses	sment:		\$1,158.30	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$1,158.30	
Brock M Parks	STINSON'S SUBDIVISION OF BLOCK	Mill and Overlay - Jet	 fferson Av	25.74	45.00	\$1,158.30	11-28-23-11-0092
705 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S	•			=	\$1,158.30	11 20 20 11 00/2
St Paul MN 55102-3245 * 705 JEFFERSON AVE	ADDITION TO ST. PAUL LOT 40 BLK 10	*** Owner and Taxpa	yer ***			ψ1,130.30	
Ward: 2			Total Asses	sment:		\$1,158.30	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Am	ount:		\$1,158.30	

		Ratification Date:	Resolution	n #:			- g.
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Artem Lidyaev	A. VANCE BROWN'S SUB. OF	Mill and Overlay - Je	efferson Av	25.74	60.00	\$1,544.40	11-28-23-11-0104
637 Marshall Ave Unit Upper St Paul MN 55104-7360 *733 JEFFERSON AVE	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL E 49 FT OF LOTS 1 AND LOT 2 BLK 9	*** Owner and Taxp	ayer ***		_	\$1,544.40	
*Ward: 2			Total Asse	ssment:		\$1,544.40	
*Pending as of: 1/28/2022			This Payn	ent:		\$0.00	
			Current Yo	ear Principal:		\$0.00	
			Current Yo	ear Interest:		\$0.00	
			Payoff An	nount:		\$1,544.40	
Christopher Baumhofer	A. VANCE BROWN'S SUB. OF	Mill and Overlay - Je	efferson Av	25.74	76.00	\$1,956.24	11-28-23-11-0103
737 Jefferson Ave	STINSON, BROWN & RAMSEY'S	j			=	\$1,956.24	11-20-25-11-0105
St Paul MN 55102-3246 *737 JEFFERSON AVE	ADDITION TO ST. PAUL W 76 FT OF LOTS 1 AND LOT 2 BLK 9	*** Owner and Taxp	ayer ***			\$1,930.24	
*Ward: 2			Total Asse	ssment:		\$1,956.24	
*Pending as of: 1/28/2022			This Payn	ent:		\$0.00	
			Current Yo	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$1,956.24	
William Eggert	A. VANCE BROWN'S SUB. OF	Mill and Overlay - Je	efferson Av	25.74	83.00	\$2,136.42	11-28-23-12-0004
771 Jefferson Ave	STINSON, BROWN & RAMSEY'S	Trans and System, St.		2017 1	=	\$2,136.42	11-28-25-12-0004
St Paul MN 55102-3247 *771 JEFFERSON AVE	ADDITION TO ST. PAUL W 83 FT OF LOTS 25 26 AND LOT 27 BLK 9	*** Owner and Taxp	ayer ***			\$2,130.42	
*Ward: 2			Total Asse	ssment:		\$2,136.42	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Yo	ear Principal:		\$0.00	
			Current Yo	ear Interest:		\$0.00	
			Payoff An	nount:		\$2,136.42	

P	ag	e	3	O

	F	Ratification Date:	Resolutio	n #:		8	S
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Candace R Nelson	A. VANCE BROWN'S SUB. OF	Mill and Overlay - J	efferson Av	25.74	42.00	\$1,081.08	11-28-23-12-0014
779 Jefferson Ave St Paul MN 55102-3247 *779 JEFFERSON AVE	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL W 41 72/100 FT OF E 83 38/100 FT OF LOTS 47 AND LOT 48 BLK 9	*** Owner and Taxp	oayer ***		_	\$1,081.08	
*Ward: 2			Total Asse	essment:		\$1,081.08	
*Pending as of: 1/28/2022			This Payn	nent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$1,081.08	
John Walsh	A. VANCE BROWN'S SUB. OF	Mill and Overlay - J	efferson Av	25.74	42.00	\$1,081.08	11-28-23-12-0013
785 Jeferson	STINSON, BROWN & RAMSEY'S	•			=	\$1,081.08	11 20 20 12 0010
St Paul MN 55102-3247 *785 JEFFERSON AVE	ADDITION TO ST. PAUL W 41 62/100 FT OF LOTS 47 AND LOT 48 BLK 9	*** Owner and Taxp	oayer ***			\$1,001.00	
*Ward: 2			Total Asse	essment:		\$1,081.08	
*Pending as of: 1/28/2022			This Payn	nent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$1,081.08	
Maple Grove Holdings Llc	A. VANCE BROWN'S SUB. OF	Mill and Overlay - J	efferson Av	25.74	285.00	\$7,335.90	11-28-23-12-0037
600 Inwood Ave N Ste 230	STINSON, BROWN & RAMSEY'S				=======================================	\$7,335.90	11-20-25-12-0057
Oakdale MN 55128-7094 * 825 JEFFERSON AVE	ADDITION TO ST. PAUL PART LYING SELY OF PLEASANT AVE OF LOTS 1,2 & 3 & ALSO VACATED ST ACCRUING	*** Owner and Taxp	oayer ***			φ1,333.9U	
*Ward: 2	& FOL SUBJ TO HWY; LOT 20 & ALL		Total Asse	essment:		\$7,335.90	
*Pending as of: 1/28/2022			This Payn	nent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$7,335.90	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>U1</u>	nit Rate	Quantity	Charge Amts	Property ID
241 Kellogg Qozb Llc	HOPKINS ADDITION TO ST. PAUL EX	Mill and Overlay - Dov	wntown	30.12	132.00	\$3,975.84	05-28-22-22-0003
4450 Excelsior Blvd # 400 St Louis Park MN 55416-5119 *241 KELLOGG BLVD E	ALLEY LOTS 7 AND LOT 8 BLK 2	*** Owner and Taxpay	yer ***		_	\$3,975.84	
*Ward: 2		- 1	Total Assessm	ent:		\$3,975.84	
*Pending as of: 1/28/2022		7	This Payment:			\$0.00	
		(Current Year I	Principal:		\$0.00	
		(Current Year I	nterest:		\$0.00	
		I	Payoff Amou	nt:		\$3,975.84	
Valk Properties Viii Llc	LOTS 3 AND 4 BLK 1	Mill and Overlay - Wes	st Side F	19.38	314.00	\$6,085.32	05-28-22-43-0037
1450 Tl Townsend Suite 100		,			_	\$6,085.32	05-20-22-45-0057
Rockwall TX 75032 *289 LAFAYETTE RD		*** Owner and Taxpayer ***				\$0,083.32	
*Ward: 2		- 1	Total Assessm	ent:		\$6,085.32	
*Pending as of: 1/28/2022		7	This Payment:			\$0.00	
		(Current Year I	Principal:		\$0.00	
		(Current Year I	nterest:		\$0.00	
		J	Payoff Amou	nt:		\$6,085.32	
Victor D Callahan	MAYWOOD, AND ADDITION TO THE	Mill and Overlay - Fair	rview Av	38.26	125.00	\$4,782.50	33-29-23-12-0210
1818 Lafond Ave	CITY OF ST. PAUL, RAMSEY COUNTY,	•			=	\$4,782.50	00 29 20 12 0210
St Paul MN 55104-1715 * 1818 LAFOND AVE	MINNESOTA W 40 FT OF LOTS 6 7 & LOT 8 BLK 1	*** Owner and Taxpay	/er ***			ψ1,702.30	
*Ward: 4		-	Total Assessm	ent:		\$4,782.50	
*Pending as of: 1/28/2022			This Payment:			\$0.00	
-			Current Year F			\$0.00	
			Current Year I	•		\$0.00	
		I	Payoff Amou	nt:		\$4,782.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul Zenner	WOODLAND PARK ADDITION TO ST.	Mill and Overlay - Weste	ern Av. 24.08	131.00	\$3,154.48	01-28-23-21-0148
585 Portland Ave	PAUL LOT 22 BLK 12			_	\$3,154.48	
St Paul MN 55102-4314		*** Owner and Taxpayer	***			
*384 LAUREL AVE *Ward: 1		To	otal Assessment:		\$3,154.48	
*Pending as of: 1/28/2022			nis Payment:		\$0.00	
5			arrent Year Principal:		\$0.00	
			arrent Year Interest:		\$0.00	
		Pa	nyoff Amount:		\$3,154.48	
Peter Huszar	APARTMENT OWNERSHIP NO 110	Mill and Overlay - Westo	ern Av 24.08	2.00	\$48.16	01-28-23-21-0124
5217 Bentgrass Way	TAZEWELL CONDOMINIUM UNIT NO	Trini unu e veriuj viesk	2.100	=	\$48.16	U1-20-25-21-U12 4
Lakewood Ranch FL 34211-1703	106	*** Owner and Taxpayer	. ***		\$46.10	
*385 LAUREL AVE 106		o wher and rampayer	•			
*Ward: 1		To	otal Assessment:		\$48.16	
*Pending as of: 1/28/2022		Tł	nis Payment:		\$0.00	
			ırrent Year Principal:		\$0.00	
		Cu	arrent Year Interest:		\$0.00	
		Pa	nyoff Amount:		\$48.16	
Timothy D Stanley	APARTMENT OWNERSHIP NO 110	Mill and Overlay - Westo	ern Av 24.08	2.00	\$48.16	01-28-23-21-0134
210 W Grant St Apt 226	TAZEWELL CONDOMINIUM UNIT NO			=======================================	\$48.16	01-20-25-21-0154
Minneapolis MN 55403-2242	109	*** Owner and Taxpayer	r ***		\$46.10	
*385 LAUREL AVE 109		_			<u> </u>	
*Ward: 1			otal Assessment:		\$48.16	
*Pending as of: 1/28/2022			nis Payment:		\$0.00	
			urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$48.16	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Emily Royer	APARTMENT OWNERSHIP NO 110	Mill and Overlay - V	Western Av	24.08	2.00	\$48.16	01-28-23-21-0128
385 Laurel Ave # 207	TAZEWELL CONDOMINIUM UNIT NO 207				_	\$48.16	
St Paul MN 55102-2069 *385 LAUREL AVE 207		*** Owner and Taxp	payer ***				
*Ward: 1			Total Asses	sment:		\$48.16	
*Pending as of: 1/28/2022			This Paymo	ent:		\$0.00	
-			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$48.16	
Kathleen Krauth	APARTMENT OWNERSHIP NO 110	Mill and Overlay - V	 Western Av	24.08	2.00	\$48.16	01-28-23-21-0131
1 1 43 Osawa Mitaka Shil	TAZEWELL CONDOMINIUM UNIT NO	J			=	\$48.16	01-20-25-21-0151
*385 LAUREL AVE 208 *Ward: 1	208	*** Owner and Taxp	payer ***			\$46.10	
*Pending as of: 1/28/2022			Total Asses	sment:		\$48.16	
			This Paymo			\$0.00	
				ar Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Am	ount:		\$48.16	
Christine M Topic	APARTMENT OWNERSHIP NO 110	Mill and Overlay - V	 Western Avı	24.08	2.00	\$48.16	01-28-23-21-0133
1530 W Larpenteur Ave Apt 215	TAZEWELL CONDOMINIUM UNIT NO				=	\$48.16	
Falcon Heights MN 55113-6380 *385 LAUREL AVE 9	y	*** Owner and Taxp	payer ***			*	
*Ward: 1			Total Asses	sment:		\$48.16	
*Pending as of: 1/28/2022			This Paymo	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Am	ount:		\$48.16	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Aine C Mccormack	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	estern Av	24.08	2.00	\$48.16	01-28-23-21-0108
391 Laurel Ave Unit 101	TAZEWELL CONDOMINIUM UNIT NO 101				_	\$48.16	
St Paul MN 55102-2074 *391 LAUREL AVE 101		*** Owner and Taxpa	yer ***				
*Ward: 1			Total Assess	ment:		\$48.16	
*Pending as of: 1/28/2022			This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amo	ount:		\$48.16	
Gladys Rosalind Stenen	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	estern Av	24.08	2.00	\$48.16	01-28-23-21-0116
391 Laurel Ave # 104	TAZEWELL CONDOMINIUM UNIT NO	William Overlay We		21.00	=		01-20-25-21-0110
St Paul MN 55102-2074	104	*** Owner and Taxpa	Ver ***			\$48.16	
*391 LAUREL AVE 104		Owner and Taxpa	.yc1				
*Ward: 1			Total Assess	ment:		\$48.16	
*Pending as of: 1/28/2022			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$48.16	
Melissa Malen	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	 estern Av	24.08	2.00	\$48.16	01-28-23-21-0121
25 Hillcrest Ave TAZEWELL CO	TAZEWELL CONDOMINIUM UNIT NO	,			=======================================	\$48.16	01-20-25-21-0121
St Paul MN 55116-2152	105	*** Owner and Taxpa	yer ***			\$46.10	
*391 LAUREL AVE 105 *Ward: 1			Total Assess	ment·		\$48.16	
*Pending as of: 1/28/2022			This Paymen			\$0.00	
2			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$48.16	

Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Jill Marie Eggerichs	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	estern Av	24.08	2.00	\$48.16	01-28-23-21-0109
816 10 1/2 St Sw	TAZEWELL CONDOMINIUM UNIT NO 201				_	\$48.16	
Rochester MN 55902-6337		*** Owner and Taxpay	yer ***				
*391 LAUREL AVE 201 *Ward: 1			Total Assess	ment:		\$48.16	
*Pending as of: 1/28/2022			This Paymen			\$0.00	
C			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amo	ount:		\$48.16	
Peter L Malen	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	estern Av	24.08	2.00	\$48.16	01-28-23-21-0113
1725 Hillcrest Ave	TAZEWELL CONDOMINIUM UNIT NO	Time and a versal, we		200	=	\$48.16	01-20-25-21-0115
St Paul MN 55116-2152	202	*** Owner and Taxpa	ver ***	\$48.10			
*391 LAUREL AVE 202		Owner and Taxpa	ixpayer				
*Ward: 1			Total Assess	ment:		\$48.16	
*Pending as of: 1/28/2022			This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$48.16	
Stephan Patrick Stephanie Luz To Obrien	APARTMENT OWNERSHIP NO 110	Mill and Overlay - We	estern Avi	24.08	2.00	\$48.16	01-28-23-21-0120
4526 Fulton St Apt A San Francisco CA 94121-3740	TAZEWELL CONDOMINIUM UNIT NO	Williand Overlay - we	Stein Av	27.00	2.00		01-28-23-21-0120
	304	*** Owner and Taxpayer ***			\$48.16		
*391 LAUREL AVE 304							
*Ward: 1			Total Assess			\$48.16	
*Pending as of: 1/28/2022			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	ount:		\$48.16	

	Pa	ge	36
--	----	----	----

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
- · · · · · · · · · · · · · · · · · · ·	<u> </u>				-		
Elizabeth E Arnold	APARTMENT OWNERSHIP NO 110 TAZEWELL CONDOMINIUM UNIT NO	Mill and Overlay - We	estern Av	24.08	2.00	\$48.16	01-28-23-21-0146
391 Laurel Ave Apt 312	312					\$48.16	
St Paul MN 55102-2078		*** Owner and Taxpay	yer ***				
*391 LAUREL AVE 312 *Ward: 1			T 4 1 A			¢40.16	
*Ward: 1 *Pending as of: 1/28/2022			Total Asses This Payme			\$48.16	
Fending as 61: 1/28/2022			•	ent: ar Principal:		\$0.00 \$0.00	
			Current Yea			\$0.00	
			Payoff Am			\$48.16	
						• • • •	
First Bank Building Llc	FIRST NATIONAL PLAT SUBJ TO	Mill and Overlay - Do	wntown	30.95	310.00	\$9,594.50	06-28-22-11-0017
375 Jackson St Ste 700w	ESMTS; & SUBJ TO ST LOT 1 & SUBJ TO ST & EX SELY 98.15 FT LOT 16 & ALL				_	\$9,594.50	
St Paul MN 55101-1810 * 332 MINNESOTA ST	OF LOTS 2 THRU 7 & EX SELY 98.15 FT LOTS 14 & 15 ALL IN BLK 18 CITY OF	*** Owner and Taxpay	payer ***				
*Ward: 2	ST PAUL & IN SD FIRST NATIONAL	,	Total Asses	sment:		\$9,594.50	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$9,594.50	
	CITY OF ST. PAUL PART OF LOTS 1 & 2	Mill and Overlay - Do	wntown	30.95	100.00	\$3,095.00	06-28-22-12-0109
25 4th St W 14th Floor	BLK 19 LYING NWLY OF A LINE RUN	<i>-</i>			=	\$3,095.00	00-20-22-12-010)
St Paul MN 55102-1634 *355 MINNESOTA ST	FROM PT ON NELY LINE OF LOT I 95.8 FT SELY OF NE COR SD LOT TO A PT ON SWLY LINE OF LOT 2 96.54 FT	*** Owner and Taxpay	yer ***			φ3,0 <i>73</i> .00	
*Ward: 2	SELY OF NW COR OF SD LOT 2 BLK 19	;	Total Asses	sment:		\$3,095.00	
*Pending as of: 1/28/2022			This Payme			\$0.00	
_				ar Principal:		\$0.00	
			Current Yea	•		\$0.00	
			Payoff Am	ount•		\$3,095.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO2120 Assmt: 215520 Manager: LMR **Ratification Date: Resolution #:**

Owner or Taxpayer	Property Description	Item Description	ution #: <u>Unit Rate</u>	Quantity	Charge Amts	Property ID
411 Minnesota Street Llc	CITY OF ST. PAUL SUBJ TO STS &	Mill and Overlay - Downto	wn 30.95	183.00	\$5,663.85	06-28-22-12-0020
700 Grand Ave	ESMTS, THAT PART ABOVE A PLANE SURFACE AT ELEV OF 71 FT CITY			=	\$5,663.85	
Onamia MN 56359-4500 *411 MINNESOTA ST	DATUM OF THE FOL; EX SWLY 120.5 FT MOL, THAT PART SLY OF A LINE	*** Owner and Taxpayer *	**			
*Ward: 2	BEG ON SWLY LINE OF BLK 5 & 172	Tota	Assessment:		\$5,663.85	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Paye	ff Amount:		\$5,663.85	
	PT OF BLK 19 LYING SELY SLY AND	Mill and Overlay Devents	20.05	105.00	¢2 240 75	21 20 22 42 1552
Hfs 428 Llc	SWLY OF A L DESC AS COMM AT	Mill and Overlay - Downto	wn 30.95	105.00	\$3,249.75	31-29-22-43-1573
7777 Golden Triangle Dr Unit 150 Eden Prairie MN 55344-3736	MOST SLY COR OF SD BLK 19 TH NELY ALONG SELY L OF SD BLK 19	*** Owner and Taxpayer *	**		\$3,249.75	
*428 MINNESOTA ST *Ward: 2	105.28 FT TO POB TH NWLY DEFL TO LEFT 91 DEG 8 MIN 38 SEC 121.32 FT	Total Assessment:			\$3,249.75	
*Pending as of: 1/28/2022			Payment:		\$0.00	
8			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payoff Amount:			\$3,249.75	
Gir of G. D. I	CTDICON AND PANCENC CURD FTC	Mil. 10. 1 I M			ф1 225 52	
City Of St Paul	STINSON AND RAMSEYS SUBD ETC. EX ST LOT 31 BLK 1	Mill and Overlay - Jefferso	n Av 25.74	48.00	\$1,235.52	12-28-23-23-0016
25 4th St W # 1000		district 1 TT at	to de		\$1,235.52	***EXEMPT***
St Paul MN 55102-1692 *360 ONEIDA ST		*** Owner and Taxpayer *	* *			
*Ward: 2		Tota	Assessment:		\$1,235.52	
*Pending as of: 1/28/2022			Payment:		\$0.00	
-			ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$1,235.52	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Mary E Campion	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Mill and Overlay - J	efferson Av	25.74	125.00	\$3,217.50	11-28-23-14-0050
997 Palace Ave St Paul MN 55102-3341 *359 OSCEOLA AVE S	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 10 BLK 19	*** Owner and Taxp	oayer ***		_	\$3,217.50	
*Ward: 2			Total Asse	ssment:		\$3,217.50	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			•	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$3,217.50	
Cecilia Konchar Farr	THOMAS DALY'S SUBDIVISION OF	Mill and Overlay - J	efferson Av	25.74	100.00	\$2,574.00	11-28-23-14-0029
360 Osceola Ave St Paul MN 55102-3516 *360 OSCEOLA AVE S BLOCKS 18 & 31 OF STINSON, B & RAMSEY'S ADDITION LOT 42 18		•			=	\$2,574.00	11 20 20 11 002
		*** Owner and Taxpayer ***				\$2,574.00	
*Ward: 2			Total Assessment:			\$2,574.00	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$2,574.00	
City Of St Paul	STINSON, BROWN AND RAMSEY'S	Mill and Overlay - J	efferson Av	25.74	566.00	\$14,568.84	11-28-23-13-0001
25 4th St W # 1000	ADDITION TO ST. PAUL LOTS 1 THRU				_	\$14,568.84	***EXEMPT***
St Paul MN 55102-1692	22 IN NORTHLAND ADD AND IN SD STINSON BROWN AND RAMSEYS ADD THE W 1/2 OF BLK 20	*** Owner and Taxp	oayer ***			φ1 1,0 00.0 T	
*Ward: 2			Total Asse	ssment:		\$14,568.84	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$14,568.84	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
199 Plato Properties Llc	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - Wes	st Side F	19.38	209.00	\$4,050.42	05-28-22-31-0005
7500 180th St E	SUBJ TO ESMTS; LOT 6 BLK 3				_	\$4,050.42	
Prior Lake MN 55372		*** Owner and Taxpay	er ***				
*199 PLATO BLVD E *Ward: 2		-	Total Assess	ment:		\$4,050.42	
*Pending as of: 1/28/2022			This Paymen			\$0.00	
1 chang as of . 1/20/2022			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amo			\$4,050.42	
State Of Mn Dot	RIVERVIEW INDUSTRIAL PARK NO. 4	Mill and Overlay - Wes	 et Side F	19.38	140.00	\$2,713.20	05 29 22 21 0014
222 Plato Blvd E	EX SWLY 8.5 FT & EX SELY 153 FT;	will and Overlay - wes	st Sluc I	17.50	=		05-28-22-31-0014
St Paul MN 55107-1618	LOT 1 BLK 2	*** Owner and Taxpay	·~***			\$2,713.20	
*222 PLATO BLVD E		Owner and Taxpay	CI				
*Ward: 2		7	Total Assess	sment:		\$2,713.20	
*Pending as of: 1/28/2022		П	This Payme	nt:		\$0.00	
		(Current Year	r Principal:		\$0.00	
		(Current Year	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$2,713.20	
Hap Plato Holding Co	RIVERVIEW INDUSTRIAL PARK NO. 4 LOT 5 BLK 1	Mill and Overlay - Wes	st Side F	19.38	280.00	\$5,426.40	05-28-22-31-0013
394 University Ave	LOT JBEK T					\$5,426.40	
St Paul MN 55103-1933 *240 PLATO BLVD E		*** Owner and Taxpay	er ***				
*Ward: 2		П	Total Assess	sment:		\$5,426.40	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Year			\$0.00	
		(Current Year	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$5,426.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dfl Party Building Fund	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - West	Side F 19.38	199.00	\$3,856.62	05-28-22-31-0026
255 Plato Blvd E	EX THE NLY 201.72 FT; LOT 3 BLK 2			_	\$3,856.62	
St Paul MN 55102-1623		*** Owner and Taxpayer	***			
*255 PLATO BLVD E *Ward: 2		To	tal Assessment:		\$3,856.62	
*Pending as of: 1/28/2022			is Payment:		\$0.00	
1 chang as 01. 1/26/2022			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
			yoff Amount:		\$3,856.62	
Rebecca M Austin	SUBDIVISION OF BLOCKS 19, 21 AND	Mill and Overlay - Weste	rn Av. 24.08	144.00	\$3,467.52	01-28-23-24-0153
427 Laurel Ave	PART OF 20 OF WOODLAND PARK ADDITON, ST. PAUL, MINN. EX W			=	\$3,467.52	
St Paul MN 55102-2015	44.62 FT; LOT 2 & ALL OF LOT 1 BLK	*** Owner and Taxpayer	***		,-,	
*383 PORTLAND AVE	20					
*Ward: 1		To	tal Assessment:		\$3,467.52	
*Pending as of: 1/28/2022		Th	is Payment:		\$0.00	
		Cu	rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$3,467.52	
G&I Ix Midway Industrial Llc	SECTION 33 TOWN 29 RANGE 23 EX	Mill and Overlay - Fairvi	ew Av 38.26	528.00	\$20,201.28	33-29-23-21-0001
5201 Eden Ave Ste 50	AVES THE N 561 33/100 FT OF NE 1/4	,		=	\$20,201.28	33-27-23-21-0001
Edina MN 55436-2367	OF NW 1/4 OF SEC 33 TN 29 RN 23	*** Owner and Taxpayer	***		\$20,201.28	
*692 PRIOR AVE N		owner and raxpayer				
*Ward: 4		To	tal Assessment:		\$20,201.28	
*Pending as of: 1/28/2022			is Payment:		\$0.00	
<i>5</i>			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$20,201.28	

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Empire Building Llc	CITY OF ST. PAUL NWLY 102 5/10 FT	Mill and Overlay - De	owntown	30.95	105.00	\$3,249.75	06-28-22-11-0015
375 Jackson St Ste 700w St Paul MN 55101-1810 *360 ROBERT ST N	OF FOL LOTS 6 AND 7 AND SWLY 4 54/100 FT OF LOT 5 BLK 17	*** Owner and Taxpa	ayer ***		_	\$3,249.75	
*Ward: 2			Total Asse	ssment:		\$3,249.75	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	nount:		\$3,249.75	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - W	Jestern Ava	24.08	11.00	\$264.88	01-28-23-12-0153
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 3				=	\$264.88	01 20 20 12 0100
St Paul MN 55101-1126 *366 SELBY AVE		*** Owner and Taxpa	ayer ***			Ψ201.00	
*Ward: 1			Total Asse	ssment:		\$264.88	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	nount:		\$264.88	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - W	 estern Av	24.08	60.00	\$1,444.80	01-28-23-12-0151
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 1				=	\$1,444.80	01-20-25-12-0151
St Paul MN 55101-1126 *366 SELBY AVE 1		*** Owner and Taxpa	ayer ***			\$1,777.00	
*Ward: 1			Total Asse	ssment:		\$1,444.80	
*Pending as of: 1/28/2022			This Paym			\$0.00	
ž			-	ar Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An			\$1,444.80	

ubite improvement rescessment res	ii by riddi css (1 00 10 11511	it) Troject. III
	Ratification l	Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - We	estern Ave 24.08	8.00	\$192.64	01-28-23-12-0161
340 Cedar St Unit 100 St Paul MN 55101-1126 *366 SELBY AVE 10	DACOTAH CONDOMINIUM UNIT NO 10	*** Owner and Taxpa	ayer ***	_	\$192.64	
*Ward: 1			Total Assessment:		\$192.64	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$192.64	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wo	estern Av. 24.08	11.00	\$264.88	01-28-23-12-0162
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO	•		=	\$264.88	01 20 20 12 0102
St Paul MN 55101-1126 *366 SELBY AVE 11	11	*** Owner and Taxpa	ayer ***	Ψ204.00		
*Ward: 1			Total Assessment:		\$264.88	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$264.88	
Daebld Lle	CONDOMINIUM NUMBER 155	Mill and Overlay - Wo	estern Av. 24.08	57.00	\$1,372.56	01-28-23-12-0163
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO	with and overlay	21.00	= =	\$1,372.56	01-20-25-12-0105
St Paul MN 55101-1126 *366 SELBY AVE 12	12	*** Owner and Taxpayer ***			\$1,372.30	
*Ward: 1			Total Assessment:		\$1,372.56	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$1,372.56	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	te Quantity	Charge Amts	Property ID	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wes	tern Avc 24.0	08 15.00	\$361.20	01-28-23-12-0152	
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 2			_	\$361.20		
St Paul MN 55101-1126		*** Owner and Taxpayo	er ***				
*366 SELBY AVE 2 *Ward: 1		_ т	otal Assessment:		\$361.20		
*Pending as of: 1/28/2022			his Payment:		\$0.00		
			Surrent Year Princip	al:	\$0.00		
			Surrent Year Interest		\$0.00		
		P	ayoff Amount:		\$361.20		
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wes	tern Avı 24.0	08 4.00	\$96.32	01-28-23-12-0154	
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 4	· ·		=	\$96.32	01-20-25-12-0154	
St Paul MN 55101-1126		*** Owner and Taxpayer ***					
*366 SELBY AVE 4		1 7					
*Ward: 1		T	otal Assessment:		\$96.32		
*Pending as of: 1/28/2022		T	his Payment:		\$0.00		
		C	urrent Year Princip	al:	\$0.00		
		C	urrent Year Interest	t :	\$0.00		
		P	ayoff Amount:		\$96.32		
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wes	tern Av 24.0	08 4.00	\$96.32	01-28-23-12-0155	
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 5	with the overlay wes	21.0	=	\$96.32	U1-20-23-12-U133	
St Paul MN 55101-1126		*** Owner and Taxpaye	er ***		\$90.32		
*366 SELBY AVE 5 *Ward: 1		- Т	otal Assessment:		\$96.32		
*Pending as of: 1/28/2022			his Payment:		\$0.00		
			urrent Year Princip	al:	\$0.00		
			urrent Year Interest		\$0.00		
		P	ayoff Amount:		\$96.32		

Owner or Taxpayer	Property Description	Item Description	<u>U</u>	nit Rate	Quantity	Charge Amts	Property ID
Dacbld Llc	CONDOMINIUM NUMBER 155 DACOTAH CONDOMINIUM UNIT NO	Mill and Overlay - Wes	tern Av	24.08	1.00	\$24.08	01-28-23-12-0156
340 Cedar St Unit 100				_	\$24.08		
St Paul MN 55101-1126	6A	*** Owner and Taxpay	er ***				
*366 SELBY AVE 6A *Ward: 1		_ 7	Total Assessm	4 .		\$24.00	
*Ward: 1 *Pending as of: 1/28/2022		_				\$24.08	
Pending as 01: 1/28/2022			This Payment			\$0.00 \$0.00	
			Current Year I Current Year I	_		\$0.00 \$0.00	
			Payoff Amou			\$0.00 \$24.08	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wes	tern Av	24.08	4.00	\$96.32	01-28-23-12-0157
340 Cedar St Unit 100 St Paul MN 55101-1126 *366 SELBY AVE 6B	DACOTAH CONDOMINIUM UNIT NO 6B				_	\$96.32	
	ob	*** Owner and Taxpay	er ***				
*Ward: 1		T	Total Assessm	nent:		\$96.32	
*Pending as of: 1/28/2022		Т	This Payment	:		\$0.00	
			Current Year 1	•		\$0.00	
			Current Year			\$0.00	
		F	Payoff Amou	nt:		\$96.32	
Dacbld Llc	CONDOMINIUM NUMBER 155	Mill and Overlay - Wes	tern Av	24.08	8.00	\$192.64	01-28-23-12-0158
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 7				=	\$192.64	01 20 20 12 0100
St Paul MN 55101-1126 * 366 SELBY AVE 7		*** Owner and Taxpayer ***				ψ19 2 .01	
*Ward: 1		_ T	Total Assessm	nent:		\$192.64	
*Pending as of: 1/28/2022		T	This Payment	:		\$0.00	
		(Current Year	Principal:		\$0.00	
		(Current Year	Interest:		\$0.00	
		P	Payoff Amou	nt:		\$192.64	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Dacbld Llc	CONDOMINIUM NUMBER 155 DACOTAH CONDOMINIUM UNIT NO 8	Mill and Overlay - V	Western Avo	24.08	4.00	\$96.32	01-28-23-12-0159
340 Cedar St Unit 100	DACOTAH CONDOMINIUM UNIT NO 8				_	\$96.32	
St Paul MN 55101-1126		*** Owner and Taxp	payer ***				
*366 SELBY AVE 8						Φ0 (22	
*Ward: 1 *Pending as of: 1/28/2022			Total Asses This Paym			\$96.32 \$0.00	
Feliding as 01. 1/28/2022			•	ar Principal:		\$0.00	
			Current Ye	-		\$0.00	
			Payoff Am			\$96.32	
Dacbld Llc 340 Cedar St Unit 100 St Paul MN 55101-1126 *366 SELBY AVE 9 *Ward: 1 *Pending as of: 1/28/2022	CONDOMINIUM NUMBER 155 DACOTAH CONDOMINIUM UNIT NO 9	Mill and Overlay - V	Payer *** Total Asses This Paym	ent: ar Principal: ar Interest:	4.00 =	\$96.32 \$96.32 \$9.00 \$0.00 \$0.00 \$96.32	01-28-23-12-0160
Paul Zenner	GRANPORT ADDITION SUBJ TO	Mill and Overlay - S	St. Paul Ave	33.63	80.00	\$2,690.40	21-28-23-12-0039
585 Portland Ave	ALLEY THE FOL VAC WORCESTER AVE N OF AND ADJ AND LOTS 8 AND				_	\$2,690.40	
St Paul MN 55102-4314 *1329 ST PAUL AVE	LOT 9 BLK 6	*** Owner and Taxp	payer ***				
*Ward: 3			Total Asses	ssment:		\$2,690.40	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$2,690.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO2120 Assmt: 215520 Manager: LMR **Ratification Date:** Resolution #:

	K	latification Date:	Resolution	#:			
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
1360 & 1372 St Paul Avenue Llc	GRANPORT ADDITION W 19 6/10 FT	Mill and Overlay - St	. Paul Ave	33.63	153.00	\$5,145.39	21-28-23-12-0032
1545 St Paul Ave	OF WHEELER ST ADJ AND FOL VAC ALLEY ADJ AND FOL EX W 36				_	\$5,145.39	
St Paul MN 55116-3707	37/100 FT LOT 4 AND ALL OF LOTS 1	*** Owner and Taxpa	ayer ***				
*1360 ST PAUL AVE	2 AND LOT 3 BLK 3						
*Ward: 3			Total Asses			\$5,145.39	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$5,145.39	
1360 & 1372 St Paul Avenue Llc	GRANPORT ADDITION EX W 19 6/10	Mill and Overlay - St	. Paul Ανε	33.63	131.00	\$4,405.53	21-28-23-12-0033
1545 St Paul Ave	FT VAC WHEELER ST ADJ AND VAC ALLEY ADJ AND FOL N 54 FT OF W 5				_	\$4,405.53	
St Paul MN 55116-3707	FT OF LOT 11 N 54 FT OF LOT 12 EX W	*** Owner and Taxpa	,				
*1372 ST PAUL AVE	27 5/10 FT THE N 54 FT OF LOT 13 AND W 27 5/10 FT OF LOT 13 AND						
*Ward: 3			Total Asses			\$4,405.53	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$4,405.53	
Capp Building Holding Company Llc	REGISTERED LAND SURVEY 529 TRACT A	Mill and Overlay - St	. Paul Ave	33.63	948.00	\$31,881.24	21-28-23-12-0112
1375 St Paul Ave	TRACT A					\$31,881.24	
St Paul MN 55116-2828 *1375 ST PAUL AVE		*** Owner and Taxpa	ayer ***				
*Ward: 3			Total Asses	sment:		\$31,881.24	
*Pending as of: 1/28/2022			This Paym			\$0.00	
-			•	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$31,881.24	

R.	titic	ation	Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
1384 St Paul Avenue Llc	GRANPORT ADDITION VAC ALLEY	Mill and Overlay - St	. Paul Ave	33.63	124.00	\$4,170.12	21-28-23-12-0034
1545 Saint Paul Ave	ADJ AND FOL W 38 FT OF N 54 FT OF LOT 8 N 54 FT OF LOT 9 EX W 31 2/10				_	\$4,170.12	
St Paul MN 55116-2570 *1384 ST PAUL AVE	FT THE N 54 FT OF LOT 10 AND W 31 2/10 FT OF LOT 10 EX W 5 FT OF N 54	*** Owner and Taxpa	ayer ***				
*Ward: 3	FT LOT 11 EX N 54 FT LOT 12 AND EX		Total Asse	ssment:		\$4,170.12	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			•	ar Principal:		\$0.00	
			Current Ye	-		\$0.00	
			Payoff An	ount:		\$4,170.12	
Adeline Realty Company Llc	GRANPORT ADDITION VAC ALLEY ADJ AND FOL EX N 54 FT AND EX W	Mill and Overlay - St	. Paul Ave	33.63	166.00	\$5,582.58	21-28-23-12-0035
1545 St Paul Ave	31 2/10 FT LOT 10 EX N 54 FT LOT 9	175 AND				\$5,582.58	
St Paul MN 55116-3707 *1398 ST PAUL AVE	AND EX N 54 FT OF W 38 FT LOT 8 AND EX E 2 5/10 FT LOT 6 AND ALL	*** Owner and Taxpa	xpayer ***				
*Ward: 3	OF LOT 7 BLK 4		Total Asse	ssment:		\$5,582.58	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$5,582.58	
City Of St Paul	LANE'S EDGCUMBE HILLS MC	Mill and Overlay - St	Paul Ave	33.63	1,292.00	\$43,449.96	21-28-23-11-0001
25 4th St W # 1000	DONOUGH PARK	will and overlay be	. I dul I IV	33.03	=		***EXEMPT***
St Paul MN 55102-1692		*** Owner and Taxpa	aver ***			\$43,449.96	EXEMIFI
*1600 ST PAUL AVE *Ward: 3		•					
			Total Asse	ssment:		\$43,449.96	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$43,449.96	

Page 48

	·	Ratification Date:	Resolution	ı #:		J	
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Sycamore Plato Partners Llc	RIVERVIEW INDUSTRIAL PARK NO. 4 LOT 4 BLK 1	Mill and Overlay - V	West Side F	19.38	216.00	\$4,186.08	05-28-22-31-0012
1335 Pierce Butler Rte # 906	LOT 4 BLK T				_	\$4,186.08	
St Paul MN 55104-1453		*** Owner and Taxı	payer ***				
*0 STATE ST							
Ward: 2			Total Asse			\$4,186.08	
Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ar Interest:		\$0.00	
			Payoff An	nount:		\$4,186.08	
Badger Properties Riverview Llc	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - V	Vest Side F	19.38	274.00	\$5,310.12	05-28-22-24-0018
570 N Asbury St	EX SLY 643.43 FT; LOT 1 BLK 3	Mill and Overlay - V		19.38	266.00	\$5,155.08	05-28-22-24-0018
St Paul MN 55104-1849		ivini unu e venu)		13.00	=	\$10,465.20	
4105 STATE ST		*** Owner and Taxı	naver ***			\$10,403.20	
Ward: 2		Owner and Tax	payor				
*Pending as of: 1/28/2022			Total Asse	ssment:		\$10,465.20	
			This Paym	ent:		\$0.00	
			Current Yo	ar Principal:		\$0.00	
			Current Yo	ar Interest:		\$0.00	
			Payoff An	nount:		\$10,465.20	
Badger Properties Riverview Llc	Nly 485 Ft Of Sly 643.43 Ft Of Lot 1 Blk 3	Mill and Overlay - V	 Vest Side F	19.38	485.00	\$9,399.30	05-28-22-24-0019
570 N Asbury St	,	Willia and Sveriay	rest stat 1	15.50	=		03-20-22-24-0019
St Paul MN 55104-1849		*** Owner and Taxı	naver ***			\$9,399.30	
*123 STATE ST		owner and ranj	pu j 01				
Ward: 2			Total Asse	ssment:		\$9,399.30	
Pending as of: 1/28/2022			This Paym			\$0.00	
			-	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An			\$9,399.30	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Badger Properties Riverview Llc	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - We	est Side F	19.38	158.00	\$3,062.04	05-28-22-31-0003
570 N Asbury St	SLY 158.43 FT OF LOT 1 BLK 3				_	\$3,062.04	
St Paul MN 55104-1849		*** Owner and Taxpa	yer ***				
*143 STATE ST *Ward: 2			Total Assess	ement:		\$3,062.04	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$3,062.04	
Affinity Plus Fed Credit Unio Attn Kyle	RIVERVIEW INDUSTRIAL PARK NO.1	Mill and Overlay - We		19.38	202.00	\$3,914.76	05-28-22-31-0025
Markland	THE N 201.72 FT OF LOT 3 BLK 2	Williand Overlay - We	ist blue 1	17.50	202.00	\$3,914.76	05-26-22-31-0025
175 Lafayette Frontage Rd W		*** Owner and Taxpayer ***					
St Paul MN 55107-1488		o wher and ranpa	<i>,</i> • • • • • • • • • • • • • • • • • • •				
*180 STATE ST			Total Assess	sment:		\$3,914.76	
*Ward: 2			This Payme	nt:		\$0.00	
*Pending as of: 1/28/2022			Current Year Principal: Current Year Interest:		\$0.00	\$0.00	
						\$0.00	
			Payoff Amo	ount:		\$3,914.76	
Central Park United Methodist Church	RIVERVIEW INDUSTRIAL PARK NO. 4	Mill and Overlay - We	est Side F	19.38	227.00	\$4,399.26	05-28-22-31-0016
253 State St	EX SWLY 8.5 FT; LOT 2 BLK 2	,			=	\$4,399.26	05 20 22 51 0010
St Paul MN 55107-1612		*** Owner and Taxpa	yer ***			Ψ1,377.20	
*253 STATE ST		-					
*Ward: 2			Total Assess	sment:		\$2,399.26	
*Pending as of: 1/28/2022			This Payme	nt:		\$0.00	
			Current Yea	•		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo			\$2,399.26	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>U</u> 1	nit Rate	Quantity	Charge Amts	Property ID
Lee Holding Llc	EX 8.5 FT RR TRACKAGE	Mill and Overlay - West	t Side F	19.38	587.00	\$11,376.06	05-28-22-34-0079
295 State St St Paul MN 55107-1612	AGREEMENT; NLY 30 FT OF LOT 4 & ALL OF LOTS 1, 2 & LOT 3 BLK 2	*** Owner and Taxpaye	er ***			\$11,376.06	
*295 STATE ST *Ward: 2			otal Assessm	ent:		\$11,376.06	
*Pending as of: 1/28/2022			his Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	_		\$0.00	
		P	ayoff Amou	nt:		\$11,376.06	
James K Mccleary Tr	RIVERVIEW INDUSTRIAL PARK NO. 6	Mill and Overlay - West	t Side F	19.38	185.00	\$3,585.30	05-28-22-34-0002
8935 33rd St N Ste 1	LOT 6 BLK 1	with and overlay west	i Biac i	17.50	=		03-20-22-34-0002
Lake Elmo MN 55042-9209		*** Owner and Taxpaye	ar ***	\$3,585.30			
*308 STATE ST		Owner and Taxpaye	υ1				
*Ward: 2		T	otal Assessm	ent:		\$3,585.30	
*Pending as of: 1/28/2022		Т	his Payment:	:		\$0.00	
-			Current Year F			\$0.00	
		C	Current Year I	nterest:		\$0.00	
		P	ayoff Amou	nt:		\$3,585.30	
City Of St Paul	E G ROGERS REARRANGEMENT EX A	Mill and Overlay - West	tern Av	24.08	235.00	\$5,658.80	01-28-23-13-0027
25 4th St W # 1000	TRIANGLE IN NE COR MEASURING 4 FT ON NW L AND 6 FT ON NELY L				=	\$5,658.80	***EXEMPT***
St Paul MN 55102-1692 *375 SUMMIT AVE *Ward: 1 *Pending as of: 1/28/2022	PART OF LOT 2 SWLY OF A L RUN FROM A PT ON NWLY L AND 8 FT	*** Owner and Taxpaye	er ***				
	FROM NE COR TO SE COR OF LOT 2	T	otal Assessm	ent:		\$5,658.80	
		T	his Payment:			\$0.00	
		C	Current Year I	Principal:		\$0.00	
		C	Current Year I	nterest:		\$0.00	
		-	ayoff Amou			\$5,658.80	

Page 5

	F	Ratification Date:	Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Evan D Witt	THOMAS DALY'S SUBDIVISION OF	Mill and Overlay - J	Jefferson Av	25.74	100.00	\$2,574.00	12-28-23-23-0060
363 Toronto St	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOTS 1 & LOT				_	\$2,574.00	
St Paul MN 55102-3622 *363 TORONTO ST	2 BLK 18	*** Owner and Tax	payer ***				
*Ward: 2			Total Asse	essment:		\$2,574.00	
*Pending as of: 1/28/2022			This Payn	nent:		\$0.00	
			•	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff A	nount:		\$2,574.00	
1825 University Limited Partnership	HUGHES' MIDWAY ADDITION TO THE	Mill and Overlay - I	 Fairview Av	38.26	150.00	\$5,739.00	33-29-23-24-0023
4450 Excelsior Blvd Ste 400	CITY OF ST. PAUL, RAMSEY CO.,			20.20	=	\$5,739.00	33-27-23-24-0023
Saint Louis Park MN 55416-5119 *1825 UNIVERSITY AVE W	MINN. LOTS 2O 21 AND LOT 22	*** Owner and Tax	payer ***			\$3,739.00	
*Ward: 4			Total Asse	essment:		\$5,739.00	
*Pending as of: 1/28/2022			This Payn			\$0.00	
			Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
			Payoff A	nount:		\$5,739.00	
Thomas J Wang	SEARLS PLACE NO. 2 LOT 15	Mill and Overlay - I	Fairview Av	38.26	117.00	\$4,476.42	33-29-23-12-0125
4055 Pumice Ln		•			=	\$4,476.42	00 2) 20 12 0120
Eagan MN 55122-2956 * 1817 VAN BUREN AVE		*** Owner and Tax	payer ***			Ψ1,170.12	
*Ward: 4			Total Asse	essment:		\$4,476.42	
*Pending as of: 1/28/2022			This Payn			\$0.00	
-			-	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff A	nount:		\$4,476.42	

Detication Detail Design

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
William R Matysik	RAMSEY'S SUBDIVISION OF BLOCK	Mill and Overlay - Jef	ferson Av	25.74	119.00	\$3,063.06	11-28-23-13-0012
359 View St	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 11 BLK				_	\$3,063.06	
St Paul MN 55102-3419 *359 VIEW ST	21	*** Owner and Taxpa	yer ***				
*Ward: 2			Total Asses	sment:		\$2,400.00	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
C .			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Am	ount:		\$2,400.00	
							ESCROW
Ecolab Usa Inc C/O Corporate Counsel	CITY OF ST. PAUL WITH ESMT OVER 2	Mill and Overlay - Do	wntown	30.95	168.00	\$5,199.60	06-28-22-12-0058
1 Ecolab Pl	FT STRIP SELY OF AND ADJ THE NWLY 75 FT OF SWLY 167 5/10 FT OF				_	\$5,199.60	
St Paul MN 55102-2739	BLK 20	*** Owner and Taxpa	yer ***			,	
*360 WABASHA ST N							
*Ward: 2			Total Assessment:			\$5,199.60	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Yea	•		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Am	ount:		\$5,199.60	
Gi. Offin 1	CITY OF CT. DALY CURVED CTC 6. AID			20.05		Ф2 042 70	
City Of St Paul	CITY OF ST. PAUL SUBJ TO STS & AIR RIGHTS THE SELY 83.6 FT OF NWLY	Mill and Overlay - Do	wntown	30.95	66.00	\$2,042.70	06-28-22-12-0269
25 4th St W # 1000 St Paul MN 55102-1692 *376 WABASHA ST N *Ward: 2	160.6 FT OF BLK 9 LYING SWLY OF THE NELY 207.99 FT OF SD BLK &	*** Owner and Taxpa	yer ***			\$2,042.70	***EXEMPT***
	PART OF SD BLK LYING SELY OF THE NWLY 160.6 FT & LYING SWLY OF		Total Asses	sment:		\$2,042.70	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Am	4 .		\$2,042.70	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
St Paul Wabasha Partners Llc	CITY OF ST. PAUL SUBJ TO STS &	Mill and Overlay - Do	wntown	30.95	127.00	\$3,930.65	06-28-22-12-0033
400 S Green St Ste H	WITH AIR RIGHTS; THE NWLY 77 FT OF PART OF LOT 6 LYING SWLY OF				_	\$3,930.65	
Chicago IL 60607-5562	THE NELY 207.99 FT OF BLK 9 & NWLY 77 FT OF LOTS 7 & LOT 8 BLK 9	*** Owner and Taxpay	yer ***				
*386 WABASHA ST N *Ward: 2	NWEI //II OI EOIS/ & EOI (BEK)		Total Assess	sment:		\$3,930.65	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$3,930.65	
Go Wild Llc	UNITS 0A, 0B, 1A, 1B, 1C, 1D, 2B, 2C,	Mill and Overlay - Do	owntown	30.95	315.00	\$9,749.25	06-28-22-12-0297
400 Wabasha St N # 290	3A, 3B, 4, 5A, 5B, 6A, 6B, 6C, 7, 8	•			=	\$9,749.25	00 20 22 12 02/
St Paul MN 55102-1705 * 400 WABASHA ST N		*** Owner and Taxpay	yer ***		ψ),/π).23		
*Ward: 2			Total Assess	sment:		\$9,749.25	
*Pending as of: 1/28/2022			This Payme	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$9,749.25	
Bridget K Kramer	APARTMENT OWNERSHIP NO 45	Mill and Overlay - We	estern Av	24.08	8.00	\$192.64	01-28-23-24-0001
111 Western Ave N Unit 1s	MONTROSE COURT CONDOMINIUM	·			=	\$192.64	01 20 20 21 0001
St Paul MN 55102-2035 *111 WESTERN AVE N 1-S	UNIT NO 1S	*** Owner and Taxpay	yer ***			ψ192.01	
*Ward: 1			Total Assess	sment:		\$192.64	
*Pending as of: 1/28/2022			This Payme	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$192.64	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas Carmichael	WOODLAND PARK ADDITION TO ST.	Mill and Overlay - Wes	tern Ava 24.08	18.00	\$433.44	01-28-23-24-0010
397 Ashland Ave St Paul MN 55102-2003 *113 WESTERN AVE N	PAUL EX W 4 52/100 FT THE N 18 FT OF S 1/2 OF LOTS 1 AND LOT 2 BLK 12	*** Owner and Taxpay	er ***	=	\$433.44	
*Ward: 1			Total Assessment:		\$433.44	
*Pending as of: 1/28/2022		Т	his Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		F	Payoff Amount:		\$433.44	
Madeline L Mccloughan	APARTMENT OWNERSHIP NO 45	Mill and Overlay - Wes	tern Ava 24.08	8.00	\$192.64	01-28-23-24-0007
115 Western Ave N Unit 1n	MONTROSE COURT CONDOMINIUM UNIT NO 1N			=	\$192.64	
St Paul MN 55102-4614 *115 WESTERN AVE N 1-N	UNII NO IN	*** Owner and Taxpay	er ***	Ψ1/2.01		
*Ward: 1		T	otal Assessment:		\$192.64	
*Pending as of: 1/28/2022		Т	his Payment:		\$0.00	
		(Current Year Principal:		\$0.00	
		(Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$192.64	
Carol J Chubiz	APARTMENT OWNERSHIP NO 45	Mill and Overlay - Wes	tern Avı 24.08	8.00	\$192.64	01-28-23-24-0005
115 Western Ave N Unit 2m	MONTROSE COURT CONDOMINIUM			=	\$192.64	01-20-23-24-0003
St Paul MN 55102-4614	UNIT NO 2M	*** Owner and Taxpay	er ***		\$192.04	
*115 WESTERN AVE N 2M *Ward: 1		<u>-</u> Т	Total Assessment:		\$192.64	
*Pending as of: 1/28/2022			This Payment:		\$0.00	
			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		P	ayoff Amount:		\$192.64	

Ratificati	on Date:
ixaunicau	on Daw.

Owner or Taxpayer	Property Description	Item Description	<u>Unit</u>	Rate Q	uantity	Charge Amts	Property ID
Candy A Schnepf	APARTMENT OWNERSHIP NO 45	Mill and Overlay - We	stern Av 2	24.08	8.00	\$192.64	01-28-23-24-0009
115 Western Ave N # 3n St Paul MN 55102-4614 *115 WESTERN AVE N 3-N	MONTROSE COURT CONDOMINIUM UNIT NO 3N	*** Owner and Taxpay	yer ***		_	\$192.64	
*Ward: 1 *Pending as of: 1/28/2022		,	Total Assessment This Payment: Current Year Prin			\$192.64 \$0.00 \$0.00	
		•	Current Year Inter Payoff Amount:			\$0.00 \$192.64	
Laurel & Western Llc	DAYTON AND IRVINE'S ADDITION TO	Mill and Overlay - We	stern Av 2	24.08	180.00	\$4,334.40	01-28-23-12-0177
340 Cedar St Ste 100 St Paul MN 55101-1126 * 122 WESTERN AVE N	SAINT PAUL LOTS 25 26 & LOT 27 BLK 74	*** Owner and Taxpay	/er ***		_	\$4,334.40	
*Ward: 1 *Pending as of: 1/28/2022		,	otal Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$4,334.40 \$0.00 \$0.00 \$0.00 \$4,334.40	
Blair House Res Condo Assn 8100 Old Cedar Ave S Ste 300	COCHRAN'S SUBDIVISION OF AND ADDITION TO BLOCK 11,	Mill and Overlay - We	stern Avı 2	24.08	80.00 =	\$1,926.40 \$1,926.40	01-28-23-21-0147
Bloomington MN 55425-1803 *147 WESTERN AVE N	WOODLAND PARK ADDITION LOT 3 BLK 11	*** Owner and Taxpay	/er ***			Ψ1,720.Τ0	
*Ward: 1 *Pending as of: 1/28/2022		,	Total Assessment This Payment: Current Year Prin Current Year Inter	ncipal:		\$1,926.40 \$0.00 \$0.00 \$0.00	

Ratification Date: Resolution #:

		Ratification Date:	Resolution				
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey A Austin Tr	COCHRAN'S SUBDIVISION OF AND ADDITION TO BLOCK 11,	Mill and Overlay - V	Western Ave	24.08	80.00	\$1,926.40	01-28-23-21-0095
151 Western Ave N	WOODLAND PARK ADDITION LOT 2					\$1,926.40	
St Paul MN 55102-2067	BLK 11	*** Owner and Tax	payer ***				
*155 WESTERN AVE N						*****	
*Ward: 1			Total Asse			\$1,926.40	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			Current Ye	ar Principal:		\$0.00 \$0.00	
			Payoff An			\$1,926.40	
			•				
Selby Avenue Realty Llc	CONDOMINIUM NUMBER 208 BLAIR	Mill and Overlay - V	Western Av	24.08	3.00	\$72.24	01-28-23-21-0093
533 S 3rd St # 100	HOUSE COMMERCIAL CONDOMINIUM UNIT NO 1				_	\$72.24	
Minneapolis MN 55415-7521 *165 WESTERN AVE N 1		*** Owner and Tax	payer ***				
*Ward: 1			Total Asse	ssment:		\$72.24	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	iount:		\$72.24	
Selby Avenue Realty Llc	CONDOMINIUM NUMBER 208 BLAIR	Mill and Overlay - V	Western Av	24.08	3.00	\$72.24	01-28-23-21-0094
533 S 3rd St # 100	HOUSE COMMERCIAL CONDOMINIUM UNIT NO 2				_	\$72.24	
Minneapolis MN 55415-7521 *165 WESTERN AVE N 2		*** Owner and Tax	payer ***				
*Ward: 1			Total Asse	ssment:		\$72.24	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$72.24	

	I	Ratification Date:	Resolution	n #:			•
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Mark R Johnson	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay -	Western Av	24.08	3.00	\$72.24	01-28-23-21-0062
165 Western Ave N # 302	HOUSE RESIDENTIAL CONDOMINIUM UNIT NO 302				_	\$72.24	
St Paul MN 55102-4611		*** Owner and Tax	payer ***				
*165 WESTERN AVE N 302							
*Ward: 1			Total Asse			\$72.24	
*Pending as of: 1/28/2022			This Paym			\$0.00	
				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$72.24	
Ellen F Shaffer	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay -	Western Av	24.08	3.00	\$72.24	01-28-23-21-0068
165 Western Ave N # 308	HOUSE RESIDENTIAL	•			=	\$72.24	01 20 20 21 0000
St Paul MN 55102-4621	CONDOMINIUM UNIT NO 308	*** Owner and Tax	payer ***			Ψ/2.21	
*165 WESTERN AVE N 308							
*Ward: 1			Total Asse	essment:		\$72.24	
*Pending as of: 1/28/2022			This Paym	nent:		\$0.00	
			Current Ye	ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	nount:		\$72.24	
Blair House Res Condo Assn	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay -	 Western Avı	24.08	3.00	\$72.24	01-28-23-21-0073
8100 Old Cedar Ave S Ste 300	HOUSE RESIDENTIAL	with and overlay	VV CSCCIII I I V	21.00	=	\$72.24	U1-20-23-21-UU/3
Bloomington MN 55425-1803	CONDOMINIUM UNIT NO 402	*** Owner and Tax	naver ***			\$72.24	
*165 WESTERN AVE N 402		Owner and rax	payor				
*Ward: 1			Total Asse	essment:		\$72.24	
*Pending as of: 1/28/2022			This Paym			\$0.00	
5 3			-	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$72.24	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
van A Friedley	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay -	Western Av	24.08	3.00	\$72.24	01-28-23-21-0084
65 Western Ave N Unit 502	HOUSE RESIDENTIAL CONDOMINIUM UNIT NO 502				_	\$72.24	
t Paul MN 55102-4621		*** Owner ***					
165 WESTERN AVE N 502						<u> </u>	
Ward: 1			Total Asses			\$72.24	
*Pending as of: 1/28/2022			This Payme	ent: ar Principal:		\$0.00 \$0.00	
			Current Ye	•		\$0.00 \$0.00	
			Payoff Am			\$72.24	
van A Friedley	CONDOMINIUM NUMBER 207 BLAIR	*** Taxpaver ***					01-28-23-21-0084
65 Western Ave N Unit 502	HOUSE RESIDENTIAL						01-20-25-21-000 4
St Paul MN 55102-4621	CONDOMINIUM UNIT NO 502		Total Asses	ssment:		\$72.24	
165 WESTERN AVE N 502			This Payme	ent:		\$0.00	
Ward: 1			Current Ye	ar Principal:		\$0.00	
*Pending as of: 1/28/2022			Current Ye			\$0.00	
			Payoff Am	ount:	\$72.24		
	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay - '	 Western Avo	24.08	3.00	 \$72.24	01-28-23-21-0085
65 Western Ave N # 503	HOUSE RESIDENTIAL				=	\$72.24	01 20 20 21 0003
t Paul MN 55102-4621 165 WESTERN AVE N 503	CONDOMINIUM UNIT NO 503	*** Owner and Tax	payer ***			Ψ/2.21	
Ward: 1			Total Asses	ssment:		\$72.24	
Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
				ar Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Am	ount:		\$72.24	
Merle A Fossum	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay -	Western Av	24.08	3.00	\$72.24	01-28-23-21-0086
65 Western Ave # 504	HOUSE RESIDENTIAL CONDOMINIUM UNIT NO 504	*** 0 1 7	ماد ماد مای		_	\$72.24	
St Paul MN 55102-4621 F165 WESTERN AVE N 504		*** Owner and Tax	payer ***				
Ward: 1			Total Asses	ssment:		\$72.24	
Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			-	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount.		\$72.24	

O T		Catification Date:	Resolution		a		ъ . тъ
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Victor A Bloomfield	CONDOMINIUM NUMBER 207 BLAIR HOUSE RESIDENTIAL	Mill and Overlay - W	estern Av	24.08	3.00	\$72.24	01-28-23-21-0087
820 Nw 12th Ave Apt 304	CONDOMINIUM UNIT NO 505				_	\$72.24	
Portland OR 97209-3046		*** Owner and Taxp	ayer ***				
*165 WESTERN AVE N 505							
*Ward: 1			Total Asses			\$72.24	
*Pending as of: 1/28/2022			This Paymo			\$0.00	
			Current Yea	ar Principal:		\$0.00 \$0.00	
			Payoff Am			\$0.00 \$72.24	
			r ayon Am	ount.		\$12.24	
E Caroline Gale 165 Western Ave N # 507	CONDOMINIUM NUMBER 207 BLAIR	Mill and Overlay - W	Jestern Avo	24.08	3.00	\$72.24	01-28-23-21-0089
	HOUSE RESIDENTIAL CONDOMINIUM UNIT NO 507				_	\$72.24	
St Paul MN 55102-4612 *165 WESTERN AVE N 507	CONDOMINIONI CHII NO 307	*** Owner and Taxp	ayer ***				
*Ward: 1			Total Asses	ssment:		\$72.24	
*Pending as of: 1/28/2022			This Paymo	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$72.24	
Karrie Dietz	CONDOMINIUM NUMBER 207 BLAIR	 Mill and Overlay - W	 Vestern Avı	24.08	3.00	\$72.24	01-28-23-21-0090
1691 Buckingham Path	HOUSE RESIDENTIAL	with and overlay vi	CStCIIIII	21.00	=	\$72.24	U1-20-23-21-UU7U
Faribault MN 55021-7021	CONDOMINIUM UNIT NO 508	*** Owner and Taxp	ayer ***			\$12.24	
*165 WESTERN AVE N 508 *Ward: 1			Total Asses	ement:		\$72.24	
*Pending as of: 1/28/2022			This Payme			\$0.00	
1 51151115 45 01. 11 2012 022			•	ar Principal:		\$0.00	
			Current Yes			\$0.00	
			Payoff Am	ount•		\$72.24	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
411 Laurel Ave Llc	SUBDIVISION OF BLOCKS 19, 21 AND	Mill and Overlay - V	Vestern Avo	24.08	93.00	\$2,239.44	01-28-23-24-0126
427 Laurel Ave St Paul MN 55102-2015 *55 WESTERN AVE N *Ward: 1 *Pending as of: 1/28/2022	PART OF 20 OF WOODLAND PARK ADDITON, ST. PAUL, MINN. EX N 50 FT LOTS 21 AND LOT 22 BLK 20	*** Owner and Taxp	oayer ***		_	\$2,239.44	
			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$2,239.44 \$0.00 \$0.00 \$0.00 \$2,239.44	
Jafar Revocable Living Trust Dtd	DAYTON AND IRVINE'S ADDITION TO	Mill and Overlay - V	Western Av	24.08	92.00	\$2,215.36	01-28-23-13-0028
682 Goodrich Ave	SAINT PAUL LOT 17 BLK 74				=	\$2,215.36	
St Paul MN 55105-0236 * 76 WESTERN AVE N		*** Owner and Taxp	oayer ***				
*Ward: 1			Total Asses	ssment:		\$2,215.36	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$2,215.36	
Commodore Condo Assoc & C/O Gittleman	WOODLAND PARK ADDITION TO ST.	Mill and Overlay - V	Vestern Av	24.08	60.00	\$1,444.80	01-28-23-24-0244
8100 Old Cedar Ave S Ste 100	PAUL N 60 FT OF LOTS 1 & LOT 2 BLK 13				=	\$1,444.80	
Bloomington MN 55425-1803 *79 WESTERN AVE N		*** Owner and Taxp	oayer ***				
*Ward: 1			Total Asses	ssment:		\$1,444.80	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$1,444.80	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Kathy A Peterson Rev	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - We	estern Av	24.08	4.00	\$96.32	01-28-23-24-0076
79 Western Ave N Unit 100 St Paul MN 55102-4601 * 79 WESTERN AVE N 100	COMMODORE CONDOMINIUMS UNIT NO 100	*** Owner and Taxpayer ***				\$96.32	
*Ward: 1			Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
-			Current Yea	ar Principal:		\$0.00	
			Current Yea	-		\$0.00	
			Payoff Am	ount:		\$96.32	
Charles T Silverson Jr Tr	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - We	 estern Av	24.08	4.00	\$96.32	01-28-23-24-0250
79 Western Ave N Unit 200	COMMODORE CONDOMINIUMS UNIT	·			_	\$96.32	01 20 20 21 0200
St Paul MN 55102-4601	NO.200 & UNIT NO.202	*** Owner and Taxpa	yer ***	\$70.32			
*79 WESTERN AVE N 200							
*Ward: 1			Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022			This Payme	ent:		\$0.00	
			Current Yea	ar Principal:		\$0.00	
			Current Yea	ar Interest:		\$0.00	
			Payoff Am	ount:		\$96.32	
Mary E Lange	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - We	 estern Av	24.08	4.00	\$96.32	01-28-23-24-0082
79 Western Ave N	COMMODORE CONDOMINIUMS UNIT	,			=	\$96.32	01-20-23-24-0002
St Paul MN 55102-4601	NO 201	*** Owner and Taxpa	yer ***	\$90.32			
*79 WESTERN AVE N 201 *Ward: 1			Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022			This Payme			\$0.00	
			-	ar Principal:		\$0.00	
			Current Yea	_		\$0.00	
			Payoff Am	ount•		\$96.32	

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Dirk Damrau	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - Wes	stern Av	24.08	4.00	\$96.32	01-28-23-24-0095
79 Western Ave N Unit 306	COMMODORE CONDOMINIUMS UNIT NO 306				_	\$96.32	
St Paul MN 55102-4601	110 300	*** Owner and Taxpay	/er ***				
*79 WESTERN AVE N 306		<u>-</u>					
*Ward: 1			Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022		-	This Payme	ent:		\$0.00	
		(Current Yea	ır Principal:		\$0.00	
			Current Yea			\$0.00	
		1	Payoff Am	ount:		\$96.32	
Julie Hill	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - Wes	stern Av	24.08	4.00	\$96.32	01-28-23-24-0099
79 Western Ave N Unit 401	COMMODORE CONDOMINIUMS UNIT	·			=	\$96.32	01 20 20 21 00
St Paul MN 55102-4623	NO 401	*** Owner and Taxpay	*** Owner and Taxpayer ***				
*79 WESTERN AVE N 401		1 3					
*Ward: 1		- -	Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022		-	This Payme	ent:		\$0.00	
		(Current Yea	ır Principal:		\$0.00	
		(Current Year Interest:			\$0.00	
]	Payoff Amount:		\$96.32		
Kathleen V Krauth	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - Wes	 stern Avı	24.08	4.00	\$96.32	01-28-23-24-0101
79 Western Ave N Unit 403	COMMODORE CONDOMINIUMS UNIT	with and overlay we	3(011171)	21.00	=		01-20-23-24-0101
St Paul MN 55102-4601	NO 403	*** Owner and Taxpay	70r ***			\$96.32	
*79 WESTERN AVE N 403		Owner and Taxpay					
*Ward: 1		-	Total Asses	sment:		\$96.32	
*Pending as of: 1/28/2022			This Payme			\$0.00	
<i>G</i>			-	r Principal:		\$0.00	
			Current Yea	•		\$0.00	
]				\$96.32	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Matthew J Brophy 79 Western Ave N Unit 508 St Paul MN 55102-4610 *79 WESTERN AVE N 508	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - V	Vestern Av	24.08	4.00	\$96.32	01-28-23-24-0114
	COMMODORE CONDOMINIUMS UNIT NO 508	*** Owner and Taxpayer ***				\$96.32	
*Ward: 1			Total Asses	ssment:		\$96.32	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			•	ar Principal:		\$0.00	
			Current Ye	_		\$0.00	
			Payoff Am	ount:		\$96.32	
Christopher E Engelmann	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - V	Western Av	24.08	4.00	\$96.32	01-28-23-24-0223
Po 4332	COMMODORE CONDOMINIUMS UNIT				_	\$96.32	
St Paul MN 55104-0332 * 79 WESTERN AVE N 608	NO 608	*** Owner and Taxp	oayer ***			ψ,0.52	
*Ward: 1			Total Asses	ssment:		\$96.32	
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$96.32	
79 Western Llc	APARTMENT OWNERSHIP NO 90 THE	Mill and Overlay - V	Vestern Av	24.08	30.00	\$722.40	01-28-23-24-0123
340 Cedar St Ste 100	COMMODORE CONDOMINIUMS UNIT	•			=	\$722.40	01 20 20 21 0120
St Paul MN 55101-1126 *79 WESTERN AVE N A	NO A	*** Owner and Taxp	oayer ***			\$122.40	
*Ward: 1			Total Asses	ssment:		\$722.40	
*Pending as of: 1/28/2022			This Paym			\$0.00	
			-	ar Principal:		\$0.00	
			Current Ye	•		\$0.00	
			Payoff Am	ount:		\$722.40	

	ŀ	Ratification Date: Resolution #:										
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID					
Kingston Real Estate Holding Llc	APARTMENT OWNERSHIP NO 90 THE COMMODORE CONDOMINIUMS UNIT	Mill and Overlay -	Western Av	24.08	4.00	\$96.32	01-28-23-24-0125					
79 Western Ave N Ste C	NO C				_	\$96.32						
St Paul MN 55102-4600		*** Owner and Tax	payer ***									
*79 WESTERN AVE N C												
*Ward: 1			Total Asse	ssment:		\$96.32						
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00						
			Current Ye	ear Principal:		\$0.00						
				ear Interest:		\$0.00						
			Payoff An	nount:		\$96.32						
Michael Galligan	CIC NO 644 WESTERN ROW	Mill and Overlay -	Western Av	24.08	7.00	\$168.56	01-28-23-13-0262					
1691 Buckingham Path	CONDOMI UNIT NO.202				=	\$168.56						
Faribault MN 55021-7021		*** Owner and Tax	payer ***									
*80 WESTERN AVE N 202												
*Ward: 1			Total Asse	ssment:		\$168.56						
*Pending as of: 1/28/2022			This Paym	ent:		\$0.00						
			Current Ye	ear Principal:		\$0.00						
			Current Ye	ear Interest:		\$0.00						
			Payoff An	nount:		\$168.56						
Steven Ruth	CIC NO 644 WESTERN ROW	Mill and Overlay -	Western Av	24.08	7.00	\$168.56	01-28-23-13-0268					
80 Western Ave N Unit 210	CONDOMI UNIT NO.210				_	\$168.56						
St Paul MN 55102-2966		*** Owner and Tax	payer ***									
*80 WESTERN AVE N 210												
*Ward: 1			Total Asse			\$168.56						
*Pending as of: 1/28/2022			This Paym			\$0.00						
				ear Principal:		\$0.00						
				ar Interest:		\$0.00						
			Payoff An	nount:		\$168.56						

Ratification	Date:
ixauncauon	Daic.

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Maren Mahowald	CIC NO 644 WESTERN ROW	Mill and Overlay - Western	Av. 24.08	7.00	\$168.56	01-28-23-13-0269
80 Western Ave Unit 300	CONDOMI UNIT NO.300			_	\$168.56	
St Paul MN 55102-2967 *80 WESTERN AVE N 300		*** Owner and Taxpayer *	**			
*Ward: 1		Tota	l Assessment:		\$168.56	
*Pending as of: 1/28/2022		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Pay	off Amount:		\$168.56	
John Maccormick	CIC NO 644 WESTERN ROW	Mill and Overlay - Western	Av. 24.08	7.00	\$168.56	01-28-23-13-0281
80 Western Ave N Unit 403	CONDOMI UNIT NO.403	Titul and a verial, violent	200	-		V1-20-25-15-V201
St Paul MN 55102-2968		*** Owner and Taxpayer *	**		\$168.56	
*80 WESTERN AVE N 403		Owner and Taxpayer				
*Ward: 1		Tota	Assessment:		\$168.56	
*Pending as of: 1/28/2022			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$168.56	
	CIC NO 644 WESTERN ROW	Mill and Overlay - Western	Av. 24.08	7.00	\$168.56	01-28-23-13-0282
80 Western Ave N Unit 405	CONDOMI UNIT NO.405	Titul and a verial, violent	200	, =	\$168.56	01-20-25-15-0202
St Paul MN 55102-2968		*** Owner and Taxpayer *	**		\$100.50	
*80 WESTERN AVE N 405		1 2				
*Ward: 1		Tota	Assessment:		\$168.56	
*Pending as of: 1/28/2022			Payment:		\$0.00	
2		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Paye	off Amount:		\$168.56	

Resolution #:

Payoff Amount:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Julie A Segler	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.407	Mill and Overlay - Western A	24.08	7.00	\$168.56	01-28-23-13-0284
80 Western Ave # 407				=	\$168.56	
St Paul MN 55102-2099		*** Owner and Taxpayer ***				
*80 WESTERN AVE N 407						
*Ward: 1		Total A	Total Assessment:		\$168.56	
*Pending as of: 1/28/2022		This Pa	This Payment:		\$0.00	
		Curren	Current Year Principal: Current Year Interest: Payoff Amount:		\$0.00).00
		Curren			\$0.00	
		Payoff			\$168.56	
Report Totals:						
196 Parcel(s)		Total	Assessment:		\$707,020.54	
7 Cert. Exempt Parcel(s)		This F	ayment:		\$0.00	
		Curre	nt Year Princip	al:	\$0.00	
		Curre	nt Year Interes	t:	\$0.00	

\$707,020.54

Page 66